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Unit One: Road Transportation

Ex. 1. Mind the new words and expressions.

W0 AN AW

to assess — OLl€HUBaTh

domestication — oloMalUHUBAHHE(SKUBOTHBIX), IPUPYUYEHHUE
emergence - BBIXOJ1; TOABJIEHHE

emergency— upe3BblyaifHoe nojoXxeHHe; aBapys

to follow - cnenoBars 3a

hazardous — onacHblii, pUCKOBaHHbIi

lane — nonioca ABMKEHUS

to maintain- nouiepXKuBaTh, 06cnyKUBaTh

maintenance — coaepxkaHue W TEXHHYeCKoe OOCHYyXHUBaHHE; YXON;
TEeKYILIMIA PEMOHT

macadam -1ebeHsb

onwards — nanee

pan-continental — naH-KOHTUHEHTANIbHBIA

to pave — MOCTHTh

to span - MPOTAHYTHCA

stagecoach —aukaHc, NOYTORAs KapeTa

strip (air strip) - mosoca (B3n€THO-IIOCA/I04HAas 110710¢a)

toll — motuniMHa, c6op, nNnara 3a npoesn

trail — Tpona, nOpoXxKa, CIEA, BPEMEHHBIH Ny Th

turnpike - rnaBHas MarucTpais; M1aTHas aBTOAOpPOra

Ex. 2. Match the word with the appropriate definition.

road, freeway (AmE), railway, ring road, slip road, bridge, turnpike,
service road, achievement, trunk road

I.
2.

a very wide road in the US, built for fast travel.
a permanent track composed of a line of parallel metal rails fixed to
sleepers, for transport of passengers and goods in trains.

. a structure that spans and provides a passage over a road, railway,

river, or some other obstacle.
a motorway for using of which a toll is charged.

. something that has been accomplished, especially by hard work, abil-

ity, or heroism.
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6. an open way, usually surfaced with asphalt or concrete, providing
passage from one place to another.

7. a main road that bypasses a town or town centre.

8. arelatively narrow road running parallel to a main road and providing
access to houses, shops, offices, factories, etc., situated along its

length.

9. ashort road connecting a motorway, etc., to another road.
10.a main road, esp. one that is suitable for heavy vehicles.

Ex. 3 Match the words and word combinations with the similar

meaning,

1. emergence
2. hazardous
3. toll

4. to assess

5. structure

6. purpose

7. to require
8. to link

9. significance
10. to expand

a) to evaluate
b) importance
¢) frame

d) to connect
€) appearance
f) dangerous

g) to spread out
h) charge

i) objective

j) to demand

Ex. 4. Choose the right variant for each word combination.

1) the Silk Road
2) fall out of favor

3) all-weather transcontinental
highway

4) mail coach service

5) stage-coach

6) wheeled vehicles

7) pan-continental trading route
8) interstate highway

9) in case of an emergency

a) TPaHCKOHTHHEHTANbHbIN
TOProBuif 1y Th

b) BcenoroHas TpaHCKOHTH-
HEeHTaNbHAs MarucTpaib

C) Jiopora ¢ TBEPAbIM HOKPBITHEM

d) BnacTte B HEMHIIOCTD

€) KojleCHOe TPaHCHOPTHOE
CpencTBo

) ve ckonb3KOE NOKPHITHE

2) paoTtaroluii Mo pacHCaHHIO
h) B 3xCTpeHHBIX CITyUasx

1) BOIOCTOHKOE JIOPOXKHOE T10-
KpBITHE



10) solid road

11) operating under a timetable

12) waterproof road surfaces
13) non-slippery pavement

J) 1EAKOBBIHA MyTh

k) nouroBas kaperta, LHIH¥KAHC
1) MexaywiTaTHoe 1Wwocce

m) noyToBas ciayx6a

Ex. 5. Translate the following noun+noun construction into Russian.

1. minimum cost network flow

7. information technology devel-

optimization
2. land transportation networks
3. road freight transport
4. high-quality road transport
5. road damage cost
6. road freight haulage

opment

8. lorry road user charge
9. road transport growth

10. land transport system
11. short-term decisions

12. product life cycle

Ex. 6. Choose the right variant for each word combination. Mind the
use of the word ‘road’.

1) back road a) KonelieBas (OKpy>kHas) Jopora
2) country road b) nopora ¢ TBEPALIM MMOKPBLITHEM
3) dirt road C) MOBE3AHAN opora

4) feeder road d) BcrioMorartensHas gopora

5) macadam road
6) merging roads

€) npocénoynas Jlopora
f) BBE3V/CBE3)] HA aBTOMArHCTPATL

7) ring road £) TaTHasg Aopora

8) secondary road h) nopora mecTHOroO 3HaYeHUs

9) slip road i) HemoLNEHas, TPYHTOBas JOpOra
10) toll road j) mopora, nokpwiTas weOHeM

11) surfaced road k) cxonsumecs goporu

Ex. 7. Read the text attentively, find international words, translate
them into Russian. Say what you have learnt from the history of
roads.

Two major modes are composing the land transport system, roads and
railways. Obviously, roads were established first, as rail technology only
became available by the 18th century, in the midst of the industrial revolu-
tion. Historical considerations are important in assessing the structure of
current land transportation networks. Modem roads tend to follow the struc-
ture established by previous roads, as it was the case for the modern Euro-
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pean road network (especially in Italy, France and Britain) that follows the
structure established by the Roman road network centuries before.

The first land roads took their origins from trails which were gener-
ally used to move from one hunting territory to another. With the emer-
gence of the first forms of nation-states trails started to be used for com-
mercial purposes as trade expanded and some became roads, especially
through the domestication of animals such as horses, mules and camels.
The use of wheeled vehicles encouraged construction of better roads.
However, a road transport system requires a level of labor organization
and administrative control that could only be provided by a central gov-
ernment offering some military protection over trade routes. By 3,000
BC the first road systems appeared in Mesopotamia and asphalt was used
to pave roads in Babylon by 625 BC. The Persian Empire had a road of
2,300 km in the 5th century BC. However, the first major road system
was established by the Roman Empire from 300 BC and onwards, main-
ly for economic, military and administrative reasons. It relied on solid
road engineering methods, including the laying ot foundations and the
construction of bridges. This was also linked with the establishment of
pan-continental trading routes, such as the Silk Road, linking Europe and
Asia by 100 BC.

Following the fall of the Roman Empire in the 5th century, integrated
road transportation fell out of favor as most roads were locally con-
structed and maintained. Because of the lack of maintenance of many
road segments, land transport became a very hazardous activity. It is not
until the creation of modern nation-states in the 17th century that na-
tional road transportation systems were formally established. The
French, through central government efforts, build their Royal Roads sys-
tem spanning 24,000 km, over which a public transport service of stage-
coaches carrying passengers and mail was established. The British,
mainly through private efforts, built a 32,000 km system of turnpikes
where tolls have to be paid for road usage. A similar initiative was un-
dertaken in the United States in the 19th century and by the early 20th
century, a network of 3 million km of roads, most unpaved, was in op-
eration. 1794 marks the beginning of modern road transportation with
the first mail coach service between London and Bristol, operating under
a timetable.



Also of high significance were technological innovations in road en-
gineering that permitted the construction of reliable and low cost hard
surface roads. One such achievement came from the Scottish engineer
McAdam who developed a process (later known as macadam) where
hard and waterproof road surfaces were made by cemented crushed
stone, bound together either with water or with bitumen. It provided a
cheaper, durable, smooth and non-slippery pavement, which considera-
bly improved the reliability and the travel speed on roads. Many roads
could now be used year round.

Road development accelerated in the first half of the 20th century. By
the 1920s, the first all-weather transcontinental highway, the Lincoln
Highway, spanned over 5,300 km between New York and San Francisco.
The Germans were however the first to build the modern highway (auto-
bahn) in 1932 with specifications such as restricted access and road sepa-
ration. The post World War Two era represented a period of rapid ex-
pansion of road transportation networks worldwide. The most remark-
able achievement is without doubt the American Interstate highway
system initiated in 1956. Its strategic purpose was to provide a national
road system servicing the American economy and also able to support
troop movements and act as air strips in case of an emergency. Overall,
about 70,000 km of four-lane and six-lane highways were constructed,
linking all major American cities, coast to coast. By the 1970s, every
modern nation has constructed a national highway system, which in the
case of Western Europe resulted in a pan-European system. This trend
now takes place in many industrializing countries. For instance, China is
building a national highway system that expanded to 25,000 km, with
construction taking place at a pace of about 2,000 km per year.

Ex. 8. Answer the following questions.

1. When did trails start to be used for commercial purposes?

2. When and where did the first road system appear?

3. Why did land transport become a very hazardous activity in the 5"
century?

4. What were technological innovations of high significance?

. When did road development accelerate?

6. Every modern nation has constructed a national highway system by
the 1970s, hasn’t it?
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Ex. 9. Substitute the words in Russian with their appropriate
equivalents in English.

1. (Benen 3a nmapeHuem) of the Roman Empire, (06beqHHEHHEIE KO-
poxHble neperoskn) fell out of favor as most roads were locally con-
structed and maintained. 2. The American (denepanshas cucreMa
CKOPOCTHBIX aBTOCTpaa) was to provide a national road system servic-
ing the American economy and also able to (moanepxusare) troop
movements and act as (B3neTHas nosoca) (B 3KCTPEHHbIX Cllydasx). 3.
The use of (konecHbIX TpaHCHOPTHBIX cpelcTB) encouraged construc-
tion of better roads. 4. By the 1920s, the first (Bcemoroauoe) trans-
continental (wocce) spanned over 5,300 km between New York and
San Francisco. 5. (JlopoxHas TpaHCIOpTHas cuCTeMa) requires a level
of (opraumsauus tpyna) and administrative control that could be
(obecneyeno) by a central (npaButenscTBoM) offering some military
protection over (Toprossie nytH). 6. The first road systems (nosBu-
nmck) in Mesopotamia and asphalt was used (nns Toro, 4yToGnl MoOC-
TUTH aopory) in Babylon by 625 BC. 7. Technological innovations in
(mopoxHas TexHHka) permitted the construction of (Hamexwusbiii) and
(¢ HU3KOH ce6ecTONMOCTBIO) (IOPOTH ¢ TBEPLLIM NOKpsITHEM). 8. The
Germans were the first to build the modern highway (autobahn) in
1932 with specifications such as (orpaunuenusiit noctyn) and (pas-
nenenune gopor). 9 Overall, about 70,000 km of (4-x monocHbIx) (Ma-
rucTpaneii) were constructed, linking all major American cities, coast
to coast. 10. Historical considerations are important (npu oueske) the
structure of (coBpeMeHHas ceTb HaseMHbIX nepeBo3ok). 11. The Scot-
tish engineer McAdam (pa3paboran) a process later known as (uue-
6enxa) which considerably improved the (sanesxHocts) and the (cko-
poctb mepensikenusa) on roads and provided a cheaper, durable,
(rnanknif) and (He CKOJIB3KYI0 MOCTOBYIO).

Ex. 10. Fill in the blanks with the suitable prepositions.

1. The most remarkable achievement is ... doubt the American Inter-
state highway system initiated ... 1956. 2. 1794 marks the beginning

. modern road transportation with the first mail coach service ...
London and Bristol, operating ... a timetable. 3. The first land roads
took their origins ... trails which were generally used to move ... one

8



hunting territory ... another. 4. The first major road system was estab-
lished ... the Roman Empire and it relied ... solid road engineering
methods, including the laying ... foundations and the construction ...
bridges. 5. The Scottish engineer McAdam developed a process
where hard and waterproof road surfaces were made ... cemented
crushed stone, bound together either ... water or ... bitumen.

Ex. 11. Translate the following sentences into Russian. Mind the use
of the participles.

1. Cars and trucks have improved in numerous respects, becoming far
more reliable, safer and less polluting. 2. Being an engine of com-
merce, the logistics industry is fueled by the health of the overall
economy. 3. Transport companies earn money being engaged in
freight transportation instead of writing the accompanying docu-
ments. 4. Goods in lots which are too small for the traditional bulk
transport can be moved using containers. 5. Indices showing cost de-
velopments for different kinds of road transport have to be published
regularly. 6. The 1939 World Fair had exhibits indicating that almost
everything in transport would operate automatically. 7. Vehicles trav-
elling on the network include automobiles, bicycles, buses, trains,
people and aircraft. ‘

Ex. 12. Translate the following sentences into Russian. Mind the use
of the emphatic constructions.

1. It is not until the creation of modern nation-states in the 17th century that
national road transportation systems were formally established. 2. It was in
the 1950s that the introduction of containerization gave massive efficiency
gains in freight transport, permitting globalization. 3. It is only in recent
years that traditional practices have started to be questioned in many places.
4. It is the density of development that spends on mode" of transport, with
public transport allowing for better special utilization. 5. It is different mod-
es of transport that offer different levels of mobility and accessibility in dif-
ferent circumstances. 6. It is the inertial nature of transportation facility de-
velopment and urban structure adjustments that make it difficult to keep up
with a population’s rapid shifts to motor vehicle.



Ex. 13. Give the main points of the text in 4-7 sentences. Use the fol-
lowing clichés:

The text deals with... . The author points out that... . Altention is
drawn to the fact that... . It is pointed out that... . It should be noted
that... . The author comes to the conclusion that... . I find the text ra-
ther/very... .

Ex. 14. Translate the text into Russian. Use the dictionary if necessary.

UNCTAD (United Nations Conference on Trade and Development)
has suggested definitions to various types of transport so that a clear dis-
tinction could be established between multimodal transport and other
forms of transport. Unimodal transport is the transport of goods by one
mode of transport by one or more carriers.

Intermodal transport is the carriage of goods by several modes of
transport from one point/port of origin via one or more interface points
to a final port/point where one of the carriers organizes the whole trans-
port. Depending upon the sharing of transport responsibility, different
types of transport documents are issued. Under the another form of
transport called segmented transport, the carrier takes responsibility for
the portion it is performing itself, and accordingly issues an intermodal
bill of lading.

Facilitation of trade and transport sectors calls for procedural, legal and
institutional reforms to simplify, standardise and harmonise procedures
and documentation that will help to achieve movement of goods at a min-
imum cost and time. This covers a wide spectrum of activities including
human resource development, physical infrastructures, and the use of new
transport and information techinologies. Multimodal transport is one of
highly effective and modern ways of facilitating movement of imports and
exports. It is a transport logistic system based on new transport technology
that ensures fast and safe movement of goods at least costs.

The rapid changes in political, economic and technological sectors in
the aftermath of the Second Great War resulted in the tremendous
growth in domestic production and international trade. The world started
to witness ever growing competition as every country faced challenges
as well as opportunities to raise one's share in the global trade. The con-
cept of 'just-in-time' became the most wanted element in international
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trader. The traditional practice of holding large stock became an obsolete
practice. Consequently this triggered new developments in, inter alia,
transport technologies aimed at achieving higher efficiency with reduced
cost and transit time in delivering products from one part of the world to
the another. In the course of its development, the multimodal transport
used to be called with variety of names such as intermodal transport,
through transport and combined transport.

Multimodal transport is the most popular form of transport logistic
system in the international trade for efficient door-to-door delivery using
single document called a multimodal transport document (MTD) under a
single liability regime covering all modes of transport from the place of
origin to the place of destination. In other words, multimodalism refers
to a transport system to effect door-to-door movement of cargo, and
therefore, reflects a logical and flexible commercial system in interna-
tional trade. It also means selling direct into the overseas market as eas-
ily as at home and in terms familiar to the customers.

Unit Two: Road - the Lifetime of the European
Single Market

Ex. 1. Mind the new words and expressions

agreement — COTJIAIICHUE, JOTOBOP

allocation — pasMernieHue, pacipecieHue
authorization — caHKIIMOHHPOBaHHE, paspelleHue
charge — pacxozpl, H3IeP>KKH, Hanor, c6op

coach — maccaxupckuif aBTo6yc, Barox

to codify — cmcTeMaTH3UpPOBAThH

to comply — BENTONHATE, OCYIIECTBIIATh

crucial — Hanboee 3HAYUTENLHBIH, BAXKHBIA
distorting — uckaxarolui, AeopMUPY IR

10. to exercise - HCIIOIB30BaTh, OCYLIECTBIATE, IPOSBIIATE, IPUMEHAITh
11.flexibility - rubkocTh

12.to hamper — mpenATCTBOBATh, MEIIAT

13.haulage — nepeBO3Ka, TPAHCIOPTHPOBKA
14.impact — cuibHOE BO3/eCTBHE, Yap, TOMY0K

WO N N
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15.legislation - 3aK0HOATENBCTBO

16.levy (v, n) — c60p, B3UMaHHE MOUUIHH, HAJIOTOB

17.in regard to — B OTHOWIEHHH, YTO KacaeTcs
18.saturation — HacbiLlEHUE

19.to settle — peryauposaTs, ycTaHaBIMBaTh

20.to strive — 60pOThCs, NpUnaraTs yCuIus

21.taxation — Has0ro00JI0XKEHUE, pa3Mep Hallora

22.toll (v, n) — nomnuua, obnarats NNATOM 3a IEPEBO3KY
23.to underpin - -noAAePKUBATD, IOAKPENNATD
24.victim - xxepTBa

Ex. 2. Match the word with the appropriate definition.
legislation, operator, safety, toll, allocation, traffic, transport café

1. a person who owns or operates an industrial or commercial estab-
lishment.

2. an inexpensive eating place on a main route, used mainly by long-

distance lorry drivers.

the act or process of making laws.

4. an amount of money levied for the use of certain roads, bridges, etc.,
to cover the cost of maintenance.

5. accounting a system of dividing overhead expenses between the vari-
ous departments of a business.

6. freedom from danger or risk of injury.

7. the movement of vehicles, people in a particular place or for a par-
ticular purpose.

|8

Ex. 3 Match the words and word combinations with the similar
meaning.

1) haulage a) duty

2) charge b) critical/ urgent
3) toll c) therefore

4) levy d) equality

5) in regard to e) to classify

6) legislation f) to fulfill

7) consequently g) in respect to
8) crucial h) tax
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9) to codify
10) to comply
11) non-discrimination

i) expenses, costs
j) law
h) transportation

Ex. 4. Choose the right variant for each word combination.

1) absorption
2) accessorial services

3) bridge toll

4) revenue unit of service

5) cargo-carrying capacity

6) constructive mileage

7) joint agents
8) traffic capacity

9) traffic density

2) IPY30BMECTHMOCTD TPaHC-
HOPTHOTO CpeficTBa

b) npomnyckHas cnocoGHOCTE
Iy TH COOOLIEHUA

C) COBMECTHOE TPaHCIOPTHOE
are’TCTBO (HECKOJIBKO IIpes-
[IPYATHI)

d) pomoNHUTENBHOE 00CTYXKH-
BaHMe IIpH HepeBO3Kax

€) IpUHATHE Ha cebs 0bs3a-
TeNbCTB APYTOro NepeBo3dnKa
0e3 yBENUYEHUSA CTOUMOCTH
JIOCTAaBKU

f) nIOTHOCTE TPaHCIIOPTHOTO
NOTOKA

£) MOCTOBOH c60p

h) pacyerHas [kanbKynAHOH-
Hasl| eJMHHLA (TOHHO-MUIS\
MaIuHO-MUIIA)

i) ycOBHA JaIBHOCTH NI€PEBO3KU

Ex. 5. Find in the text international words and translate them into

Russian.

Ex. 6. Read the text and say what you have learnt about European roads.

Day and night, hundreds of thousands of lorries travel across Europe's
main arteries. This mode of transport has two major and obvious advan-
tages: its flexibility and its ability to carry goods and passengers door-to-
door. This is the reason why European companies clearly prefer the road
network to distribute their products throughout the Union.
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Road transport is clearly an important factor underpinning the develop-
ment of the European internal market. The more this market opens up and
becomes unified, the more the sector benefits in terms of its own growth.

Every operator in the sector has the right to settle and freely exercise
his activities throughout the Union. The specific rules governing Euro-
pean road transport, in particular with regard to taxation and charges,
tolls and levies for the use of infrastructure, are made up by distinct na-
tional legislations. This regulatory mosaic is composed of numerous
elements with unequal costs, distorting competition. It prevents the op-
timum allocation of resources and hampers competitiveness in this area
of economic activity. The overall aim of the EU rules worked out in this
sector has been to strive for clarity and open up the market in a balanced
manner to the benefit of a large number of transport operators.

The road haulage sector is the victim of its own success. Its steady
growth — together, of course, with that of car traffic — contributes to
the increasingly frequent saturation of the capacity of Europe's roads.
The need to share infrastructure with other road users also raises the im-
portant question of road safety. Another consequence of fundamental
importance for the community is the impact on the environment, in par-
ticular in connection with greenhouse gas emissions and climate change.
It is not that freight carried by road, using diesel, which is not the most
polluting fuel, is the central element of this problem, but the ever-
growing number of vehicles operating in European road transport, now
over 20 million, is undeniably a contributing factor.

The sector of passenger transport by road shares with the road haul-
age sector a number of identical rights and obligations: freedom of estab-
lishment, access to the market, compliance with conditions of competi-
tion, vehicle safety and safe driving. Consequently, many EU rules ap-
plying to lorries also concern buses and coaches. From 1991 to 2001
their activity, measured in millions of passenger-kilometers, rose by
about 10 %.Their modal share is limited to approximately 9 % of overall
passenger transport (including cars, railways and air traffic). A signifi-
cant percentage of these is made up of vehicles used for urban or inter-
urban transport that are operated by transport companies under the su-
pervision of the public authorities.

In a sector where safety is of crucial importance, the Union has codi-
fied and simplified the common administration procedures relating to
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various passenger transport scenarios: national authorization for regular
services, possession of a contract for specific regular services (school
transport, personnel transport, etc.), holding a road map for occasional
services and a certificate for own-account services.

The Interbus agreement is a key instrument for liberalizing the impor-
tant passenger road transport market between the Union and the countries
of central and Eastern Europe. The agreement comprises social, fiscal and
technical measures based on non-discrimination among the various con-
tracting parties. It governs not only traffic between the EU and non-
member countries but also among the nonmember countries themselves.
As such, it is a major step towards harmonising, within the Europe the
rules and procedures which transport operators have to comply with.

Road transport plays a direct role in developing the European internal
market. Moreover road transport also has to meet challenges connected
with its success: network safety and saturation impact on the environ-
ment. The future of road haulage should therefore be viewed in the
framework of an overall medium-term vision of the Union’s transport
policy as analyzed in the White Paper (European Transport Policy for
2010).

Ex. 7. Answer the following questions.

What are the major advantages of lorries?

What problems does the road sector have?

What procedures has the Union codified?

What is the Interbus agreement?

What challenges does road transport have to meet?

Al

Ex. 8. Substitute the words in Russian with their appropriate
equivalents in English.

[. The steady growth of ( cexTopa ZOpOXHBIX HMepeBO30K) contributes to
the (Hacermunocts) of the capacity of Europe's roads. 2. The Union has
(cucremarusuposan) and simplified the (o6ergnbre) administration pro-
cedures in a sector where (6e3oriacHocts) is of ( Wpe3BBIYANHO BaxkHA) 3.
The specific (npaeuna) governing European road transport include ( na-
noroobioxenre) and charges, (momummuer) and (c6opwr) for the use of
infrastructure, 4. Many EU (upaBuna) applying to (rpy30Buk#) also con-
cern buses and (raccaxupckue astobycei) .5.The ever-growing number
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of (TpaHcnopTHbIe cpeAcTBa) operating in European road transport, now
over 20 million, is a contributing factor of the (Bo3peitctue) on the (
OKpyXaolllas cpefa), in particular in connection with (napHukoBsIif) gas
(BbiGpockl) and climate (u3menenme). 6. The Interbus (cornamenue)
comprises social, (¢uHaHcOBbIE H TeXHHYeckHe Meprl) based on non-
discrimination among the various (forosapusaroiecs CTOPOHBI), it is a
major step towards harmonizing, within the Europe (npasuna u npotie-
JAypwl) which transport operators have to (Bemonnats).7. The sector of
(naccaxxupckuii TpaHcnopt) by road shares with the road (nepeso3ku)
sector a number of identical ( npasa u obs3arenscTpa): (zoctyn) to the
market, (6e3011aCHOCTb TpaHCIOPTHOrO cpeAcTBa) and ( Ge3omacHoe BO-
xJenne). 8. The need to (menuts) infrastructure with other road (mons-
30BaTeNM) raises the important question of (fopoxtan Ge30macHoOCTs).

Ex. 9. Fill in the blanks with the suitable prepositions.

1. The aim of the EU rules worked ... in this sector has been to strive ...
clarity and open up the market in a balanced manner to the benefit ...a
large number of transport operators. 2. Day and night, hundreds of thou-
sands ... lorries travel ... Europe's main arteries. 3. Road transport has
the capacity ... carrying goods door ... door. 4.The Interbus agreement is
a key instrument ... liberalizing the important passenger road transport
market ... the Union and the countries ... central and Eastern Europe. 5.
This agreement governs not only traffic ... the EU and non-member
countries but also ... the nonmember countries themselves. 6. The Inter-
bus agreement is a major step ... harmonising, ... the Europe the rules
and procedures which transport operators have to comply with. 7. The
modal share ... EU rules is limited to approximately 9 % ... overall pas-
senger transport (including cars, railways and air traffic). 8 The need to
share infrastructure ... other road users raises the important question ...
road safety. 9.A significant percentage ... overall passenger transport is
made up ... vehicles used ... urban or inter-urban transport that are oper-
ated ... transport companies ... the supervision ... the public authorities.
10.European companies prefer the road network to distribute their prod-
ucts ... the Union.
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Ex. 10. Make up questions, the answers to which are given in the
right-hand column.

What...? Flexibility and ability to carry
goods and passengers door to
door.

Why...prefer the road network...?  To  distribute their  products
throughout the Union.

What...specific rules concerned to? Taxation and charges, tolls and
levies for the use of infrastructure,

What...? Open up the market to the benefit
of transport operators.

How many....? Over 20 million.

What...? National authorization for regular

services, possession of a contract,
holding a road map and a certifi-

cate.
What...? The Interbus agreement.
What....? The impact on the environment in

connection with greenhouse gas
emissions and climate change.

Why...the victim...? Saturation of the capacity of Eu-
rope's roads.
When... by about 10 %. From 1991 to 2001.

Ex. 11. Translate the following sentences into Russian. Mind the use
of the modal verbs.

1. Quality assurance must be built into the system, deviations must be
defected and corrected before the consignee recognizes the problem, not
afterwards. 2. The transport operator has to be able to predict and keep to
time windows at both pick-up and delivery locations. 3. The transport
market may be characterized as a highly regulated market with primitive
mechanisms to match supply and demand. 4. There is little information
on how road users might respond to a complex structure of charges and
hence how effective a complex system might be. 5. In order to know
where you need to get to, you must know where you were presently situ-
ated. 6. The challenge is to develop a masterplan on European transport,
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containing an overall vision on what should be achieved and how it
should be achieved. 7. The shift from private car to public transport can
be encouraged by a more efficient and comfortable transport system. 8.
The role of the taxi in avoiding traffic jams should and could be en-
larged.

Ex. 12. Translate the following sentences into Russian. Mind the use
of the passive voice.

1. Changes in the supply of transport services are affected by human
technologies, customer demand and external cost. 2. Many characteris-
tics of transport demand are influenced by a multitude of simultaneously
occurring tendencies. 3. In Helsinki the road dust problem is mainly
blamed on winter sanding and has been addressed since the 1980s. 4.
Transport and transporters are influenced by the changes in political and
public opinion, by the rapid development of telecommunications and so
on. 5. The capacity of existing European waterways is not fully utilized.
6. The need for sustainable mobility and alternative land use policies has
recently been recognized. 7. For some agro industries the cost of the raw
material waiting at the reception area is affected by the deterioration of
the perishable products transported by trucks.

Ex. 13. Give the main points of the text in 4-7 sentences. Use the fol-
lowing clichés:

The text deals with... . The author points out that... . It should be re-
membered that... . The author comes to the conclusion that... .

Ex. 14. Translate the text into Russian. Use the dictionary if necessary.

About the International Road Federation

The International Road Federation is a non-governmental, not-for-
profit organisation with over 650 members worldwide from both the
public and private sector. It was founded in 1948. The mission of the
IRF is to encourage and promote the development and maintenance of
better and safer roads and road transport systems worldwide.

The IRF promotes education and understanding of the social and eco-
nomic benefits to be derived from developing modern road networks,
transport systems and traffic control; encourages and supports the plan-
ning and execution of economically and environmentally sound pro-
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grammes to improve and extend road networks and allied systems;
provides education and training programmes; cooperates with, advises
and exchanges experiences with international, national and local organi-
sations with goals similar to those of the IRF; advises on, assists and
promotes the creation of national and regional road federations; col-
lects, collates and distributes statistical, technical, economic, educational
and other road-related material; stimulates and supports regional and
global harmonisation of standards; supports road research; encourages
and promotes improvements in road safety.

The IRF also publishes World Road Statistics, the only global compi-
lation of road and vehicle statistics. It is based on data from official
sources within national statistics offices and national road administra-
tions in more than 200 countries. It also benefits from increased IRF co-
operation with major international institutions such as Eurostat and Af-
ristat, and the UN Economic Commissions for Europe and for Africa.

Since it first appeared in 1958, World Road Statistics has been an in-
dispensable reference tool for road professionals, statisticians, econo-
mists, journalists and development specialists around the world.

It is used by such agencies as the United Nations Development Pro-
gramme, the World Bank, the European Commission and the CIA for
their own publications: for example, the World Bank uses World Road
Statistics to prepare a part of its own publication World Development
Indicators.

Unit Three: London’s Congestion Charge

Ex. 1. Mind the new words and expressions

bus occupancy — 3arpy’kKeHHOCTE (BMECTHMOCTE) aBTO0yCa
clamp (v, n)- ¢uKcHpOBaTh, 3KUM

congestion — 3atop, npobka Ha Kopore

flat fee —puxcuporansas omara

fine — wTpad, nnara

fossil fuel — Hckomaemoe TOMNUBO

enforcement - IpHUHY AUTENBHOE IPUMEHEHME 3aKOHA

net revenue — YUCTHIA FOJOBOY JOXOL,

XNAN AL

19



9.

10.
11.
12.
13.

persistent - cTOHKHUH, NOCTOAHHBIH, IPOAOIDKUTETBHbI
ridership — (. 9) naccaxupckue nepeBO3KU
surveillance - Habmronenue

to track — cneauThb, MPOCIEKHBATD

transponder— peTpaHCcASTOp, paHOMasK

Ex. 2. Match the word with the appropriate definition.

route, congestion charging, cost, to levy, profit, congestion, revenue

1.
2,

7.

the state of being overcrowded, especially with traffic or people.
a way of reducing traffic in city centres by charging drivers money to
enter.

. the price paid or required for acquiring, producing, or maintaining

something, usually measured in money, time, or energy.

to say officially that people must pay a tax or charge.

excess of revenues over outlays and expenses in a business enterprise
over a given period of time, usually a year.

money that a business or organization receives over a period of time,
especially from selling goods or services.

a way between two places that buses, planes, ships, etc. regularly travel.

Ex. 3 Match the words with the similar meaning.

1) fine a) decrease

2) fee b) charge

3) track c) trace

4) reduce d) release

5) emission ¢) observation
6) payment f) revenue

7) income g) penalty

8) surveillance h) expense

Ex. 4. Give the Russian equivalents of the following expressions.

1. congestion charge 10. noise level

2. journey time reliability 11. the charged area

3. efficiency of freight distribution 12. persistent non-payers
4. during working hours 13. displaced car users

5. flat once-a-day fee 14. road traffic emissions
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6. an electronic road pricing system 15. fossil fuel consumption

7. road-side transponders or on-board 16. inner ring road
units
8. video-surveillance cameras 17. (average) bus occu-
pancy
9. automatic number plate recognition 18. traffic flow
technology

Ex. 5. Choose the right variant for each word combination. Mind the
use of the word “charges”.

1) all charges borne a) KOMHCCHOHHBIE
2) all charges included b) TpaHCIIOPTHBIE PACXOABI
3) back charges ¢) HakJIaJiHble PacxXo/pl
4) basis for charges d) pacxozp! Ha IIOTPY3KY ¥ pas-
IpysKy
5) bill of charges ¢) o0paTHbIe PaCXOLBI
6) capital (depreciation) charges f) nnara 3a xpaneHue
- 7) charges for delivery g) pacxosl Oy IyIUX eT
8) charges from salary h) Bximoyas Bce 3aTpaThl
9) commission charges i) 32 MOKpBITHEM BCEX paCcXoO-
JIOB
10) contracting charges j) mnara 3a nepeBosKy rpysa
11) customary charges k) ocHOBazHe 114 MIaTexKeH
12) deferred charges 1) 3aTpathl Ha JOCTaBKY
13) freight charges m) pacxofbl, OTOBOPEHHbLIE
JIOrOBOPOM
14) handling charges ) OOLIYHEIE PACXOJIbI
15) overhead charges 0) CYeT Pacxo/OB
16) storage charges P) aMOPTHU3ALMOHHBIE OTYHCIIE-
BUA
17) transport charges q) yJep KaHUs U3 3apILIaThl

Ex. 6. Look through the text and find the derivatives from the fol-
lowing verbs : to rely, to distribute, to surveil, to enforce, to pay, to in-
dicate, to signify, to improve, to occupy.
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Ex. 7. Read the text for more information about technology de-
scribed.

London’s Congestion Charge was introduced on 17 February 2003 with
the aims of reducing congestion, improving bus services, improving journey
time reliability and improving the efficiency of freight distribution and other
services. Drivers entering the centre of the city during working hours must
pay a flat, once-a-day fee. It is an electronic road pricing system which op-
erates without road-side transponders or on-board units. Vehicles are tracked
entering the charged area by video-surveillance cameras, using automatic
number plate recognition technology.

This technology is employed for enforcement in urban and truck charg-
ing systems. Drivers entering the charged area between 7 a.m. and 6:30 p.m.
Monday to Friday must pay 5 pounds (7 Euro), in advance or before the end
of the day. Over half a million payments are made each week. Payments
may be made by Internet, mobile phone SMS messages or at some petrol
stations and shops. On payment, the vehicle’s registration number is entered
onto a computerized list and cross-checked against the video camera re-
cords. Fines are sent out to drivers of cars entering the zone without pay-
ment. Persistent non-payers are identified and their vehicles clamped, or in a
few extreme cases their vehicles have been crushed.

The impacts of the system have been carefully monitored. The main
results reported after the first complete year of operation are as follows,
and closely in line with the results of the modeling on which the system
was designed:
¢ Congestion within the zone has reduced by 30%, and the volume of
traffic within the zone has reduced by 15%;
¢ Public transport is successfully accommodating displaced car users;

o There have been significant improvements to bus services in the zone
and more widely throughout London;

e Comparative analysis of the many influences on the central London
economy suggests that the direct impact of congestion charging on busi-
ness activity has been small;

¢ Road traffic emissions and fossil fuel consumption in the zone have
been reduced.
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s Traffic entering the charging zone during charging hours has been
reduced by 18%, and traffic circulating within the zone has been reduced
by 15% (vehicles with four or more wheels). As predicted, there have
been small increases in traffic on the inner ring road, just outside the
charging zone, but this is being managed without significant additional
congestion. There are no indications of significant increases in traffic
outside the charging zone

Improvements to the bus network made in conjunction with the charging
scheme have seen increased ridership both inside the charging zone and
more widely. Reduced congestion on the roads has enabled more busses to
be run with much more reliable journey times. Average bus occupancy has
increased but over-crowding has been avoided. Most of the net revenues
generated by the charge are being invested in bus services.

By reducing overall volumes of traffic within the charging zone, and
smoothing traffic flows, charging is estimated to be directly responsible
for an approximate 12% reduction in emissions of both NOx and fine
particles (PM10) from road traffic.. The reduction in CO2 emissions
from traffic is estimated to be 19%.No significant changes in noise levels
have been recorded.

Generally the congestion charge has been accepted by the public and
by business. The success of the charge has resulted in the Mayor propos-
ing to extend the charged area to cover all of central London. The charg-
ing system and level of charge would stay the same and be applied to a
single zone roughly double the size of the present charging area. ’

Ex. 8. Answer the following questions.

1. Why was London’s Congestion Charge introduced?

2. What technology is employed for enforcement in urban and truck
charging systems?

3. What were the main results after the first year of charging system op-
eration?

4, How has the ecological situation been improved within the charging
zone?

5. What has the success of charge resulted in?
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Ex. 9. Substitute the words in Russian with their appropriate
equivalents in English.

1. Road (BeiGpoce! Tpancnopra) and fossil (notpebnenus Torumsa) in the
zone have been reduced.2. (Bogurenm) entering the centre of the city during
(B pabouee Bpema) must pay a (UKCHPOBAHHYIO OJHOIHEBHYIO miary). 3.
Generally the (3arop) charge has been accepted by the public and by business.
4. The (snusinue) of the electronic (crcTeMa ROpOXHBIX c6OpoB) have been
carefully monitored. 5 Vehicles are (orcnexusatores) entering the (athas
obnactb) by (xameprl BUIeo HaOMOLEHUsA) using automatic (TexHOMOHA
pacrio3HaBaHMs HOMEPHOIO 3Haka).6. Reducing (3atopoB Ha noporax) has
enabled more busses to be run with much more (HanexHs1i) journey times. 7.
No (3HauMTeNnBHBIX H3MEHEHMIT) in (ypoBeHs LyMa) have been recorded. 8.
(3arop) and the (nnTeHCHBHOCTS ABIKEeHHA) Within the zone has (ymeHbIe-
usl). 9. (Ipader) are sent out to drivers of cars entering the zone (6e3 orua-
Tol). 10. Average (HanonHaeMocTs aBTo0ycoB) has increased but (nepenon-
HenuocTs) has been avoided. 11. Most of the (ducras npuGbuin) generated by
the charge are being invested in (aBroGycHoii cnyxGei). 12. By (ymeubiie-
nus) overall volumes of ( mBwkenus) within the charging zone, and (criaxu-
Banus) traffic (morokoB), charging is estimated to be directly
(otBercTReHHbIH) for (YMeHbIneHHe BHIOpOcoB) from road traffic.

Ex. 10. Translate the following sentences into Russian. Mind the use
of the gerund.

1. For traffic management, there is a great deal of monitoring and an increase
in the amount and reliability of information given to users. 2. Varying the
charge by distance travelled within the UK ensures that all vehicles contribute
equally irrespective of their country of registration or where they last refueled.
3. By easing traditional impediments (mpensrctsus) to the international
movement of goods, the TIR system encourages the development of interna-
tional trade. 4. A market observation system for monitoring the transport mar-
ket in case of disturbances enabling adequate interventions is needed. 5. There
is little scope for reducing the annual tax on vehicle ownership further. 6. The
extent of feeling unsafe when using public transport is relatively high. 7. Mul-
timodal transport is one of highly effective and modermn ways of facilitating
movement of imports and exports. 8. Whatever the mode of transport, getting
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round in certain urban areas is becoming an increasingly time-consuming,
difficult, uncomfortable, hazardous and stressful activity.

Ex. 11. Translate the following sentences into Russian. Mind the use
of participle 11

1. Air pollution caused by intensive car, lorry and air traffic is finally
starting to worry those who are most exposed to it. 2. One of the main
measures considered by logistics managers of agro industries with con-
tinuous process is related to truck waiting times in the reception area. 3.
The total journey time by public transport consists of the time taken to
get to or from bus-stop, the waiting time and the time on board the vehi-
cle. 4. The distribution services offered included warehousing, admini-
stration, order processing and the control of the goods flowing via the
transport network. 5. Transport services provided in return for money
can immediately be classed as third-party operations. 6. Based on a lit-
erature study and laboratory tests, full scale tests should be carried out on
existing roads. 7. The investigation carried out is based on the data from
the road surface measurements made on stale roads and accidents re-
ported by the police.

Ex. 12. Give the main points of the text in 4-7 sentences. Use the fol-
lowing clichés:

The text deals with... . The author points out that... . Attention is
drawn to the fact that... . It is pointed out that... . It should be noted
that... . The author comes to the conclusion that... . I find the text ra-
ther/very... .

Ex. 13. Translate the following text into Russian. Use the dictionary
if necessary.

United Kingdom plans to introduce a satellite based electronic km
charge for trucks and trials of the technology began in 2004 on the mo-
torways around the city of Leeds. Road infrastructure costs have been
closely examined in the UK over many years and the existing fixed an-
nual vehicle tax for trucks is differentiated according to axle weight and
type of suspension in order to promote road friendly vehicles. This
knowledge is expected to be used to differentiate the new electronic km
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charge to a relatively high degree, and this is the reason for preferring a
satellite based system.

The information on the external costs of transport shows that these
costs vary significantly by time of day, road type and area type.

The British Government proposes to start with a relatively simple
structure of charges which succeeds in meeting the main objectives of
the policy. These are: to ensure fairness and efficiency, so that all users
contribute equally and at a level which reflects the costs they impose on
the road network; to deliver environmental and other benefits by setting
the rates so as to reflect the environmental performance of the vehicle
paying the charge. The charge is expected to vary according to the dis-
tance traveled, vehicle type and road type.

Varying the charge by distance travelled within the UK ensures that
all vehicles contribute equally irrespective of their country of registration
or where they last refueled. Distinguishing by vehicle type ensures that
the charge relates both to road damage costs and to environmental costs,
with the heaviest vehicles with the fewest axles paying most and vehicles
with more environmentally friendly emission standards paying less. The
charge will also encourage operators to upgrade their fleets and make
better use of their vehicles so as to reduce vehicle kilometers. Variation
by road type further reflects the significant differences in costs between
modem, high quality roads usually constructed to provide for freight
traffic and other roads where road damage, environmental and safety
costs are higher.

Using a satellite based system to levy the charge will allow for further
variation to be implemented. There is likely to be the potential for vary-
ing the charge by time of day, so as to encourage operators to schedule
their trips at times when they impose the lowest costs because the inter-
urban network is less congested. A further option is a charge that varies
by area type, to reflect the higher costs that heavy vehicles typically im-
pose when operating in close proximity to people and their homes in ur-
ban areas. Both these options are unlikely to feature in the system when
first implemented. The aim is to ensure that it is sufficiently flexible for
it to be enhanced later.

The Government does not intend the new charge to increase the over-
all cost of road freight haulage for domestic operators in the UK. The
aim is to reduce other taxes on UK road haulage so as to leave the over-
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all costs broadly unchanged. There is little scope for reducing the annual
tax on vehicle ownership (Vehicle Excise Duty) further. It is already
highly graduated to encourage the purchase of environmentally friendly
vehicles.

The Government concluded to repay part of the fuel duty paid by
hauliers when they purchase fuel in the UK. Most fuel purchased by
goods vehicle operators is either supplied directly to their depots or pur-
chased in the course of a journey by drivers using special fuel cards. In
both cases it would be a relatively simple matter for the suppliers of the
fuel to claim a rebate from the tax authority and pass this on to the pur-
chaser. There would also need to make arrangements whereby direct
purchasers of fuel could claim back the tax against a receipt from an au-
thorised service station.

Unit Four: Rush Hours

L ____

Ex. 1. Mind the new words and expressions

approach — noaxoJ; moabe3x

avoidance — u3bexxaHue, yKJIOHEHHE

to back — noep>KUBaTh, NOAKPENIATD

collision — cToIKHOBEHHE

to encourage — NOOLIPSATH, NOANEPKHBATH

to enforce — 064361BaTh, BBOAUTH B JASHCTBHE

grade —ypoBeHb, CTENEHb

image-recognition — pacmosHaBaHue U300paXkeHHH

interchange — niepeceuenue (IOPOKHO-TPAHCIIOPTHOE)

10.intersection — nepexpecTox, nepeceyeHue

11. grade-separated intersection — fopoXxHas pa3sBs3ka B ABYX YPOBHAX

12.junction — nepexpecTok, nepeceueHue Jopor

13.grade junction — nepeceueHHe AOPOT HA OJHOM YPOBHE

14.lane — nonoca qBUKEHUS;

15.HOV —High Occupancy Vehicle — maimina, B koTopoii eayT asa u

DoJiee uenoBeKa, BIIIIOYAs BOIUTENS;
HOV lane — nojyioca ABWXeHUSA, BhIAEIEHHAsA I MALIHH, B KOTO-
PBIX e1yT ABa U OoJiee YeoBeKa BKIIOYas BOJUTEN A

WX AN AP -
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16.obstruction — npensTcTBHE, 3aTpYAHEHHE NPOABHKEHUIO
17.offending - Hapyatoumii

18.rush hour — yac nux

19. ticket ~(31): kBHTaHUMS 32 HApYINEHHe TPABIT YIHYHOTO JBHKEHNS
20.to issue ticket - meyaTaTh KBUTAHIHIO

21.time-consuming ~ OTHUMArOLIHii MHOT'O BpeEMeHH

22 turnpike road — rnapHas MarucTpan.

23.underneath - o

24.underpass — noa3eMHbIi Niepexo]i, TOHHeNb, Ty TENPOBOX
25.overtake —obrouaTe

Ex. 2. Match the word with the appropriate definition.

highway (AmE), rush hour, junction, collision, motorway (BrE),
ticket

1. a wide main road that joins one town to another.

2. amain road for fast-moving traffic, having limited access, separate
carriageways for vehicles travelling in opposite directions, and usu-
ally a total of four or six lanes.

3. aperiod at the beginning and end of the working day when large
numbers of people are travelling to or from work.

4. aviolent impact of moving objects; crash.

5. apiece of paper, cardboard, etc., showing that the holder is entitled to
certain rights, such as travel on a train or bus, entry to a place of pub-
lic entertainment, etc.

6. apoint on a motorway where traffic may leave or join it.

Ex. 3. Match the words and word combinations with the similar mean-
ing.

1) to back a) crash

2) to ride b) offending driver
3)intersection c) to drive

4) ticket d) to support

5) license plate e) coach

6) business day f) carpool lane

7) to encourage g) receipt

8) HOV lane h) working day
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9) collision
10) bus
11) speeding driver

i) junction
j) number plate
k) to cheer

Ex. 4. Choose the right variant for each word combination.

1) limited access road
2) collision avoidance

3) speed-measuring device
4) green wave

5) posted limit
6) business days
7) traffic congestion

8) four-way flashing lights

9) rush-hour traffic intensity
10) lane marking

11) grade-separated intersection
12) grade junction

13) minimum speed signs

13) time-consuming

a) 3elieHas BOJHA

b) HHTEHCHBHOCTH [JBHXXEHHS B
4ac nUK

) OTHUMAIOLMI MHOTO BpeMEHHU

d) popora ¢ OrpaHHYEeHHBIM
JABHXXEHUEM

€) pasMeTKa MmoJyoc

f) ycTaHOBJICHHEIE OrpaHHYEHHs
g) IOopoxHas pa3Bf3ka B IBYX
YPOBHSX

h) mepeceuenve mopor B ogHOM
ypoBHe

i) nz0exanue CTONKHOBEHHS

J) YCTpOHCTBO u3MepeHMs CKo-
poCTH

k) npo6kn Ha noporax

1) paGouue nuun

m) 3HaKd OrPaHWYEHUA MUHH-
MAIbLHOR CKOPOCTH

n) aBapuitHas CUrHaJIM3aLys

Ex. 5. Choose the right variant for each word combination. Mind the

use of the word “way”.
A)

1) under way

2) no two ways about it

3) in many ways

4) in some ways

5) by way of

6) by the way

7) no way

8) the other way (round)

2)BO MHOTHX OTHOLUCHUAX

b) kcTatu

) NOJIHBIM XOJ0OM

d) B HekoTOpOIii cTENICHH

€) paa, ¢ Ueblo

f) Hao6opoT

£) HUYEro He BBHAJET

h) nByx MHEHMWit OBITE HE MOXKET
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B)

1) way bill a) obouuna

2) way cargo b) nonyTHbIA Maccaxup

3) way fare C) NYHKT Ha3HAYCHUs COrNIaCHO
IYTEBOMY JIUCTY

4) way passenger d) saxnagHas

5) way side €) MONyTHHIA Irpy3

6) way train f) npuropoaHslit noesx

7) waybill destination £) MecTHbIR Tapud

Ex. 6. Look at the title and say what information the text gives, Read
the text attentively for the details.

Rush Hours

The higher the speed of a vehicle, the more difficult collision avoid-
ance becomes and the greater the damage if a collision does occur.
Therefore, many countries of the world limit the maximum speed al-
lowed on their roads. Vehicles are not supposed to be driven at speeds
which are higher than the posted maximum.

To enforce speed limits, two approaches are generally employed. In
the USA, it is common for the police to patrol the streets and use special
equipment (Typically a RADAR Gun) to measure the speed of vehicles,
and "pull over” any vehicle found to be in violation of the speed limit. In
Brazil and some European countries, there are computerized speed-
measuring devices spread throughout the city, which will automatically
detect speeding drivers and take a photograph of the license plate (or
number plate), which is later used for applying and mailing the ticket.

Another interesting mechanism that was developed in Germany is the
Griine Welle, or green wave, which is an indicator that shows the opti-
mal speed to travel for the synchronized green lights along that corridor.
This encourages drivers to travel at the posted limit in order to minimize
stopping.

During business days in most major cities, traffic congestion reaches
great intensity at predictable times of the day due to the large number of
vehicles using the road at the same time. This phenomenon is called rush
hour, although the period of high traffic intensity may exceed one hour.
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Some cities adopt policies to reduce rush-hour traffic and pollution
and encourage the use of public transportation. For example, in Sdo Pau-
lo, Brazil each vehicle has a specific day of the week in which it is for-
bidden from traveling the roads during rush hour. The day for each vehi-
cle is taken from the license plate number, and this rule is enforced by
traffic police and also by hundreds of strategically positioned traffic
cameras backed by computerized image-recognition systems that issue
tickets to offending drivers.

In the United States and Canada, several expressways have a special
lane (called an "HOV Lane" - High Occupancy Vehicle Lane) that can
only be used by cars carrying two (some locations-three) or more people,
and several cities offer a public telephone service where citizens can ar-
range rides with others depending on where they live and work. The pur-
pose of these policies is to reduce the number of vehicles on the roads
and thus reduce rush-hour traffic intensity. Uncontrolled traffic occurs in
the absence of lane markings and traffic control signals. On roads with-
out marked lanes, drivers tend to keep to the appropriate side if the road
is wide enough. Drivers frequently overtake others. Obstructions are not
uncommon.

In large cities, moving from one part of the city to another by means
of ordinary streets and avenues can be time-consuming since traffic is
often slowed by at-grade junctions, tight turns, narrow marked lanes and
lack of a minimum speed limit. Therefore, it has become common prac-
tice for larger cities to build expressways or freeways, which are large
and wide roadways with limited access, that typically run for long dis-
tances without at-grade junctions.

The words expressway and freeway have varying meanings in differ-
ent jurisdictions and in popular use in different places; however, there
are two different types of roads used to provide high-speed access across
urban areas:

The freeway (in USA usage) or motorway (in UK usage) is a divided
multi-lane highway with fully-controlled access and grade-separated in-
tersections (no stops). Some freeways are called expressways, super-
highways, or turnpikes, depending on local usage. Access to freeways is
fully controlled; entering and leaving the freeway is permitted only at
grade-separated interchanges.
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The expressway (when the name does not refer to a freeway or mo-
torway) is usually a broad multi-lane avenue, frequently divided, with
some grade-level intersections (although usually only where other ex-
pressways or arterial roads cross).

Motor vehicle drivers wishing to travel over great distances within
the city will usually take the freeways or expressways in order to mini-
mize travel time. When a crossing road is at the same grade as the free-
way, a bridge (or, less often, an underpass) will be built for the crossing
road. If the freeway is elevated, the crossing road will pass underneath it.

Minimum speed signs are sometimes posted (although increasingly
rare) and usually indicate that any vehicle traveling slower than 40 mph
(~65 km/h) should indicate a slower speed of travel to other motor vehi-
cles by engaging the vehicle's four-way flashing lights. Alternative
slower-than-posted speeds may be in effect, based on the posted speed
limit of the highway/freeway.

Ex. 7. Provide answers to the questions below.

1. What is the first approach employed in the USA?

2. What mechanism was developed in Germany to enforce speed limits?

3. How do the anthorities in S4o Paulo, Brazil reduce rush-hour traffic
and pollution?

4. What is HOV Lane?

5. What is difference between freeway and expressway?

Ex. 8. Replace the words in Russian with their appropriate equiva-
lents in English.

1. (11exns) of these policies is to (yMenwsmuTs) the number of vehicles on
the roads and thus reduce (MHTEHCHBHOCTH [BWKEHMA B 4ac IHK). 2.
(3HakH o rpaHiYeHns M HHMMANBLHOM CKOpocTH) are sometimes posted
and usually indicate that any (rpancnopTHoe cpencTBo) traveling slower
than 40 mph (~65 km/h) should indicate a slower (ckopocTs) of travel to
other motor vehicles by engaging the vehicle's (aBapulinbie ornu). 3. In
some European countries there are (KOMITBIOTEpH3HPOBaHHBIE YCTPOHCT-
Ba M3MepeHus ckopoctn) spread throughout the city, which will auto-
matically (onpenensior) speeding drivers and take a photograph of the
(Homepuoit 3nax) which is later used ( s npexbABIeHMsS KBUTAHLHH).
4. The freeway is a divided (MHorononocrHas) highway (¢ noIHOCTLIO
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KOHTPOJIMpYeMbIM J0cTynioM) and (¢ JOPOKHOHM pa3Bs3koil B ABYX
YpoBHsX) (no stops). 5. Many countries of the world (orpanuyusaror) the
maximum (paspelleHHas ckopocTs) on their roads. 6. The police patrol
the streets and use special (o6opyaoBanue) to detect any vehicle found to
be in (HapylueHne ckopocTHoro pexuma). 7. Uncontrolled traffic occurs
(npx orcyrcTBuH pasmerkH) and traffic control signals. 8. When a cross-
ing road is (na ToMm xe yposHe) as the freeway, (MocT) or (TOHHEB, NY-
tenpoeox) will be built for the crossing road. 9. (3emenas Bonua) or the
Griine Welle in Germany is an indicator that shows (onTuMansHas cko-
pocte apwxennsi) for the synchronized green lights along that corridor.
10. This rule is enforced by traffic police and also by hundreds of (ctpa-
Teruuecky pacnonoxenHsiMu) traffic cameras (nogaepxusaemeie) com-
puterized image-recognition systems that (neuaraer kButaHums) to (Ha-
pywaromum) drivers. 11. (Joctyn) to freeways is fully controlled;
(BBE3/ U BBIE3A C AaBTOCTpazpl) is permitted only at grade-separated in-
terchanges. 12. In large cities, moving from one part of the city to an-
other by means of ordinary streets and (npocnekramu) can be (oTum-
MaloiMM MHOro BpemeHH) since traffic is often (3amennsercs) by at-
grade (nepexpecTkax), tight (moBoporax), narrow marked lanes and lack
of a minimum (orpanuyenue CKOpPoOCTH).

Ex. 9. Fill in the blanks with the appropriate prepositions.

1. Several cities offer a public teclephone service where citizens can ar-
range rides .... others depending ..... where they live and work. 2. Vehi-
cles are not supposed to be driven ..... speeds which are higher than the
posted maximum. 3. Freeways are large and wide roadways ..... limited
access, that typically run ..... long distances ..... at-grade junctions. 4.
Motor vehicle drivers wishing to travel ..... great distances ...... the city
will usually take the freeways or expressways in orderto minimize travel
time. 5. If the freeway is elevated, the crossing road will pass ....... it. 6.
..... business days ..... most cities, traffic congestion reaches great inten-
sity ..... predictable times .....the day ..... the large number ..... vehicles
using the road ..... the same time. 7. In some cities each vehicle has a
specific day ..... the week ..... which it is forbidden ..... traveling the
roads ..... rush hour.
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Ex. 10. Translate the sentences into Russian, paying attention to the
different meanings of ‘that’.

1. Distinguishing by vehicle type ensures that the charge relates both to
road damage costs and to environmental costs.2. Manufactures will use
EDI (electronic data interchange) to link their distribution more closely
with those of internal and external partners. 3. A balance needs to be
struck between the requirements of the Customs authorities on the one
hand and those of the transport operators on the other. 4. The great dis-
advantage of the bus is that it must share roads with other vehicle. 5. It is
a well-known fact that men in general drive more than women. 6. One of
the reasons why the original TIR system had to be modified was that in
the early 1960’s a new transport technique emerged: the marine con-
tainer. 7. Transport is such a visible activity and such a politically sensi-
tive one that is important public policy questions.

Ex. 11. Translate the following sentences into Russian. Mind the use
of the infinitive.

1. Vehicles are not supposed to be driven at speeds which are higher than
the posted maximum. 2. To enforce speed limits, two approaches are
generally employed. 3. This encourages drivers to travel at the posted
limit in order to minimize stopping. 4. Some cities adopt policies to re-
duce rush-hour traffic and pollution and encourage the use of public
transportation. 5. The purpose of these policies is to reduce the number
of vehicles on the roads and thus reduce rush-hour traffic intensity. 6.
The tonnage transported is expected to decrease due to lighter products,
and the average distance of transport is expected to increase due to the
exploitation of scale economy in production costs. 7. For this traffic in-
formation to be of most value it must be accurate, up-to-the minute and
communicated immediately to drivers already on the road. 8. The gov-
ernment does not intend the new charge to increase the overall cost of
road freight haulage for domestic operators in the UK.

Ex. 12. Translate the sentences into Russian. Mind the use of the
modal verbs.

1. If EU wants to have an integrated and prosperous economy, it has to
build up an effective transport system. 2. An international haulage is cha-
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racterized by the use of the so-called quota system meaning that haulers
have to obtain the permit to be able to undertake international journeys.
3. Individual public transport users must be prepared to change buses. 4.
Transport may not be the top energy-consuming sector but it still eats up
a massive 30% of EC energy budgets. 5. Drastic measures should be tak-
en to reduce the rate of 50,000 dead and 1,500,000 injured on European
roads every year. 6. A set of high standard rules to protect the environ-
ment should be implemented for emissions, noise, clean engines, clean
fuels, energy consumption, etc. 7. Small investments in the structure of
some East European ports could improve the transport potential between
East and West. 8. Enterprises that move freight to commercial facilities
such as factories, stores and warehouses usually need to operate in coor-
dination with operations and resource availability at recciving locations.

Ex. 13. Give the main points of the text in 4-7 sentences. Use the fol-
lowing clichés:

The text deals with... . The author points out that... . Attention is
drawn to the fact that... . It is pointed out that... . It should be noted
that... . The author comes to the conclusion that... . I find the text ra-
ther/very... .

Ex. 14. Translate the following text into Russian. Use the dictionary
if necessary.

In Verona, Italy, in November 2008, the International Association of
Public Transport (UITP) and the Italian Public Transport Association
(ASSTRA) joined the forces with Veronafiere to launch a new biennial
event dedicated to the topic of public transport in small and medium-
sized cities and rural areas. “Often when we think about mobility and
public transport, we automatically imagine a large city with crowded
metros, trams and buses running at a high frequency. This however is
only a part of the picture. Smaller cities have a different reality. They
represent a significant part of the population and we should ensure that
their mobility is given the attention it deserves,” stated UITP Secretary
General, Hans Rat.

Providing sustainable transport solutions in small cities and rural ar-
eas is not without its own special challenges. There are quite difficult
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conditions for public transport operators, with lower and more heteroge-
neous demand than in large cities (fewer people dispersed over a large
area). Travelers are less captive to public transport than in larger urban
areas. Public transport is generally limited to surface transport, in par-
ticular buses, which usually run in traffic alongside private modes. In
this context it is not surprising that public transport is seen as less attrac-
tive option, and that the level of public transport usage is relatively low.
indeed this can be a vicious cycle. “A number of cities worldwide have
proven that it is possible to break out of this vicious cycle and make pub-
lic transport a preferred choice amongst many inhabitants of smaller cit-
ies,” explained Mr. Rat.

Speed is a key factor to the success of public transport, and a number
of smaller cities have shown that it is possible to perform well in this
regard. ‘Buses of high level of service’ or ‘bus rapid transit’ can provide
a popular high-profile and rapid mode that combines the speed and im-
age of light rail with the cost and flexibility of the bus.

A solution to low demand that has been tried in a number of cities is
demand-responsive transport. Faced with the difficult challenge of low
passenger numbers and high costs of scheduled lines, the city of Dele-
mont in Switzerland opted for the introduction of a demand-responsive
bus line, which proved to be hugely successful. In fact, the implementa-
tion of this alternative transport service made it possible to identify and
re-launch demand and thus to return to a vastly improved normal line
service. Economies of scale and better customer service can be achieved
where there is good integration between neighbouring areas within one
region, for instance in terms of services and ticketing. For instance in the
Austrian city Graz, the introduction of an integrated ticketing system for
the region led to a reduction in the user cost of public transport. In Frei-
burg im Breisgau, in Germany a successful integrated ticketing system
unites 75 towns and municipalities around Freiburg, serving a population
of 625,000 inhabitants.
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Unit Five: Transport, Energy and Environment

Ex. 1. Mind the new words and expressions

to account for- 0OBACHATD, CITYXKUTh IPUYHHON

aquatic - BOJHBIH

consumption - noTpebieHne, pacxol, U3NEPKKHU, 3aTPaThl

controversial — copHbiH, COMHUTENbHDII

feasible — BeposTHBIH, BOSMOXKHBIH, OCYILECTBUMABILii

fluid — noABMXHBI, U3MEHUYHBBIH, HECTAO Wb HbIN

to guzzle —mmoTpebnsaTs 4T0-NMOO HUpe3MepHO

incentive — cTUMYJ, MOTUB

. to offset — Bo3MeIIaTh, KOMITEHCHPOBATH

10 particulate — TBépaas yacTuiia

11.payout — BeInnara

12. performance—3KCrulyaTaliiiOHHble XapaKTePHCTUKI

13.to plug in - moaxrOuaTh, BKMIOYATh B CETh

14.powertrain - cHIoBas nepeaaia, TpaHCMUCCHUS

15.regenerative braking - pekynepaTHBHOE TOPMOXKEHHE

16.runoff — oTxoABI(TIPOMEIILIEHHBIE)

17.sprawl — paspacTanue roposa ( 3acTpoika HpHIeralnx TeppuTo-
puit) urban sprawl - HexOHTpoAMpyeMast 3aCTpoiika PUIErarLHX K
ropofly TeppUTOpHH

18.so00t —~ caxa, KOTIOThb

19. streamline — (ra) ynpoiwiarh, MOJEPHU3HPOBATh, PALIHOHAIU3U-
poBarth; (cym) nuHUSA o6 TeKaHUs, AMHUA BO3AYIIHOrO MOTOKA, 06-
TexaeMas dopma

20.utility — Hone3HOCTh, BHIrOAA

21.vehicle fleet — napk TpaHCTIOPTHBIX CPELCTB

el B el b

Ex. 2. Match the word with the appropriate definition.

impact, pollution, fuel, environment, contribute, infrastructure,
shortage

1. adeficiency or lack in the amount needed, expected, or due; deficit.
2. the external surroundings in which a plant or animal lives, which tend
to influence its development and behavior.

37



3. the force with which one thing hits another or with which two objects

collide.

AN

harmful or poisonous substances introduced into an environment.

to give (support, money, etc.) for a common purpose or fund.

any substance burned as a source of heat or power, such as coal or petrol.
the stock of fixed capital equipment in a country, including factories,

roads, schools, etc., considered as a determinant of economic growth.

Ex. 3. Match the words with the similar meaning.

1) pollution
2)consumption
3) controversial
4) feasible

5) incentive

6) to offset

7) runoff

8) impact

9) propulsion
10) efficient

a) questionable
b) use

¢) motive

d) effectual

e) impulse

f) waste

g) to compensate
h) possible

i) contamination
j) influence

Ex. 4. Choose the right variant for each word combination.

1) traffic fluidity

2) traffic flow

3) storage capacity of battery
4) global climate change

5) toxic runoff

6) aquatic ecosystems

7) carbon content

8) battery pack

9) water supplies

10) environmental regulations

11) installing road signs

12) journey times
13) fleet renewal
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a) robalbHOe U3MEHEHME KITU-
mara

b) KI1JI gsurarens

C) BOJHBIE 3KOCHCTEMBI

d) comepxanue yrnepona

€) YCTaHOBKA IOPOXKHBIX 3HAKOB
f) TokcH9HBIE OTXOABI

g) OOHOBJIEHHE NapKa MalluH
h) nioTox TpaHcnopra

i) BpeMs B Iy TH

}) HOpMAaTHBBY IO OKPYIKArOIIEeH
cpene

k) BEIOpOCHI ra30B, BBI3LIBAIO-
[IMX TapHUKOBBIN 3 deKT

1) 6stox GaTapeit

m) NOABUAHOCTD TPAHCIIOPTHO-



ro noToKa

14) lowering sulfur content n) EMKOCTb aKKyMYJIATOpa

15) engine output 0) BOJOCHAGKeHHE

16) greenhouse gas emission P)CHIDKEHHE COAEPKAHHS cephbl
17) plant-based fuel q) pPacTUTENbHOE TOMIUBO

Ex. 5. Look up the Russian equivalents of chemical terms in the dic-
tionary.

petroleum hydrogen

carbon monoxide sulfur

hydrocarbon fuels CO, emissions

nitrous oxides fossil fuels

carbon dioxide gasoline-ethanol blend

Ex. 6. Read the text attentively and learn how scientists try to solve
ecological problems produced by transport.

Transport is a major use of energy, and transport burns most of the
world's petroleum. Transportation accounts for 2/3 of all U.S. petroleum
consumption.

The transportation sector generates 82 percent of carbon monoxide
and 56 percent of NOx emissions and over one-quarter of total US
greenhouse gas emissions. Hydrocarbon fuels also produce carbon diox-
ide, a greenhouse gas widely thought to be the chief cause of global cli-
mate change, and petroleum-powered engines, especially inefficient
ones, create air pollution including nitrous oxides and particulates (soot).

Although vehicles in developed countries have been getting cleaner
because of environmental regulations, this has been offset by an increase
in the number of vehicles and more use of each vehicle.

Other environmental impacts of transport systems include traffic con-
gestion and automobile-oriented urban sprawl, which can consume natu-
ral habitat and agricultural lands. Toxic runoff from roads and parking
lots can also pollute water supplies and aquatic ecosystems.

Alternative propulsion can reduce pollution. Low pollution fuels may
have reduced carbon content, and thereby contribute less in the way of
carbon dioxide emissions, and generally have reduced sulfur, since sulfur
exhaust is a cause of acid rain. The most popular low-potlution fuels at
this time are biofuels: gasoline-ethanol blends and biodiesel. Hydrogen
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is an even lower-pollution fuel that produces no carbon dioxide, but pro-
ducing and storing it economically is currently not feasible. Plug-in hy-
brids are energy-efficient vehicles that are going to be in the mass-
production.

Another strategy is to make vehicles more efficient, which reduces
pollution and waste by reducing the energy use. Electric vehicles use
efficient electric motors, but their range is limited by either the extent of
the electric transmission system or by the storage capacity of batteries.
Electrified public transport generally uses overhead wires or third rails to
transmit electricity to vehicles, and is used for both rail and bus trans-
port. Battery electric vehicles store their electric fuel onboard in a battery
pack. Another method is to generate energy using fuel cells, which may
eventually be two to five times as efficient as the internal combustion
engines currently used in most vehicles. Another effective method is to
streamline ground vehicles, which spend up to 75% of their energy on
air-resistance, and to reduce their weight. Regenerative braking is possi-
ble in all electric vehicles and recaptures the energy normally lost to
braking, and is becoming common in rail vehicles. In internal combus-
tion automobiles and buses, regenerative braking is not possible, unless
electric vehicle components are also a part of the powertrain; these are
called hybrid electric vehicles.

To achieve real environmental objectives, attention should be fo-
cused on all motor vehicles, not just new vehicles. Features such as on
board diagnostics systems can monitor engine output, while regular
technical inspection reveals if vehicles are well-maintained and operating
under optimal conditions.

It takes about ten years for the national vehicle fleet to be renewed.
Providing incentives to replace old gas-guzzling vehicles with newer, fuel-
efficient models, for instance payouts to scrap old vehicles, would speed
up the process of fleet renewal and help reduce carbon gas emissions.

Oil companies are improving their petrol and diesel products, such as
lowering sulfur content, to increase fuel efficiency, comply with the
new environmental regulations and respond to new developments in
engine technology.

Alternative fuels such as natural gas produce lower CO, emissions.
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On the other hand, some experts think that plant-based fuels may not
provide the answer to CO, emissions because of their negative overall
energy and environmental performance from cultivation to final use.

Motor vehicles achieve optimal performance where traffic flow is
most fluid. Ways of improving traffic fluidity, reducing congestion and
hence lowering fuel consumption are:

¢ building new road infrastructure where necessary;

e improving current infrastructure;

¢ installing road signs providing both directions and information on
the road network to allow tourists to choose the best route.

In the United States, for example, Intelligent Transport Systems
(ITS) are being installed in 75 of the largest urban areas, an investment
that should help reduce journey times by 15%.

Shifting trave! from automobiles to well-utilized public transport can
reduce energy consumption and traffic congestion.

Walking and bicycling instead of traveling by motorized means also
reduces the consumption of fossil fuels. While the use of these two mod-
es generally declines as a given area becomes wealthier, there are some
countries (including Denmark, Netherlands, Japan and parts of Germany,
Finland and Belgium) where bicycling comprises a significant share of
trips. Some cities with particularly high modal shares of cycling are Co-
penhagen (33%) and Groningen (50%). A number of other cities, includ-
ing London, Paris, New York, Sydney, Bogota, Chicago and San Fran-
cisco are creating networks of bicycle lanes and bicycle paths, but the
value of such devices for utility cycling is highly controversial.

Ex. 7. Answer the following questions.

What is thought to be the chief cause of global climate change?

What are the other environmental impacts of transport system?

How can pollution be reduced?

What are the most popular low-pollution fuels?

What is another strategy to make vehicle more efficient?

What is the most effective way to generate energy?

How can real environmental objectives be achieved?

What are the major ways of improving traffic fluidity?

Do you know any other alternative ways to reduce the consumption
of fossil fuels?

WRETAIWNM P WD —
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Ex. 8. Substitute the words in Russian with their appropriate
equivalents in English.

1. Shifting travel from automobiles to well-utilized public transport can
reduce (notpebnenue axepruu) and (npodku Ha jpoporax). 2. Although
vehicles in (paseuThix cTpanax) have been getting cleaner because of
(HopmaTHBBI TIO OKpYyxaroue#t cpene), this has been (koMrnescuposarte)
by an (ysenudenue) in the number of vehicles. 3. Ways of improving
(moaBWXHOCTE Tpaduka), (ymeHbluenue 3atopoB) and lowering (mo-
Tpebaenue ToruMea) include building new (nopoxHas uHbpacTpykTy-
pa), (ymyymenue) current infrastructure and (ycraHOBKa JOPOXKHBIX
3yakoB). 4. (Xapaxrepuctuku) such as on board diagnostics systems
can (kontponupoBath) (KII/| msurarens). 5. (Hedrsmeie) companies
are (ynyuwaror) their (6en3unHoBsIi) and diesel products, such as (cuu-
XKEHHE colepXKaHUA cephl), to (yBemuuuTh 3QQPEeKTUBHOCTH TOMIMBA)
and respond to new (pa3spaboti) in engine technology. 6. Hydrocarbon
(romuso) produce carbon dioxide, a (mapuukoBsiii ras) thought to be
the chief (npuumua) of (rnodanbHoe W3MeHeHue kiuMata), and (bensu-
HOBBIC JBUraTeny) create (3arpA3HeHUE Bo3ayxa). 7. (g BocTHXeHus)
real environmental (ueneit), (BauManue) should focus on all (MoTopHbIe
TpaHCIIOPTHBIE cpeAcTBa), not just new vehicles. 8. Motor vehicles
achieve optimal (SkcrulyaTauuoHHBIX XapakTepHCTHK) where (TpaHc-
IOPTHBIN MOTOK) is most (0XXMBIEHHBIH ).

Ex. 9. Fill in the blanks with the appropriate prepositions.

1. To achieve real environmental objectives, attention should be focused
.... all motor vehicles. 2. Regular technical inspection reveals if vehicles
are well-maintained and operating ..... optimal conditions. 3. Electric
vehicles use efficient electric motors, but their range is limited ..... either
the extent .... the electric transmission system or .... the storage capacity
.... batteries. 4. Toxic runoff ..... roads can pollute aquatic ecosystems.
5. 1t takes .... ten years .... the national vehicle fleet to be renewed. 6.
Installing road signs providing both directions and information ..... the
road network allows tourists to choose the best route. 7. Shifting travel
...... automobiles ..... well-utilized public transport can reduce energy
consumption and traffic congestion. 8. A number .... cities are creating
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networks ..... bicycle lanes, but the value ...... such devices ..... utility
cycling is highly controversial.

Ex. 10. Translate the following sentences into Russian. Mind the use
of the participle.

1. All papers mentioned provided valuable insight into the car rental
business. 2. The costs of idle drivers and wasted fuel of the trucks while
wafting in the lines are all important, but in second place if compared to
the storage costs. 3. Changes in the manufacturing flow process lead to
shorter cycle times, meaning improved responsiveness and efficiency of
demand to customers. 4. The containers used in the beginning of the 19®
century were much smaller than those we see today. 5. Increasing vol-
umes of traffic mean an increased safety risk. 6. The form of public
transport chosen by the individual passenger depends on comfort, infor-
mation and personal general preference for the form of transport. 7. The
longer the journey time, the greater the disadvantage which passengers
experience when changing buses. 8. Obviously, this deterioration is most
marked in highly industrialized and densely populated areas.

Ex. 11. Translate the following sentences into Russian. Mind the use
of the passive voice.

1. In mass production industries, most of the production plans are based
on the estimation of market demand. 2. The project, Noise Innovation
Program is being carried out by the Dutch Road Laboratory, which is
expected to cost 55 miilion Euro. 3. Importance is placed on making use
of each others’ expertise and special equipment. 4. Voices are now heard
calling for a significant and lasting way to reduce the consumption of
energy by transport. 5. Transport is not viewed in isolation, but is closely
linked with policies including those covering the environment, energy
and safety. 6. Most seaport, inland waterways and pipelines networks are
designed and realized specifically for movement of freight. 7. A com-
parison has been made between the transportation of containers by rail in
the US and in Europe.
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Ex. 12. Translate the following sentences into Russian. Mind the use
of the compound prepositions and conjunctions.

1. Both passenger and goods transport have rapidly increased in the past
years. 2. The poor state of road equipment, which has clearly been a
cause of accidents, is not at all acceptable either in social or economic
terms. 3. The management of car deployment is highly complex due to
the connection of car availability across time, the station network and
different car groups. 4. It is neither possible nor rational to develop a
public transport system where all passengers can travel from door-to-
door without exchanging buses. 5. Traffic signs and management sys-
tems are deteriorating due to intensive use, in part through damage and
by poor maintenance. 6. A corporate station operates by means of staff
and cars that are both part of the car rental company.

Ex. 13. Give the main points of the text in 4-7 sentences. Use the fol-
lowing clichés:

The text is concerned with... . ... are considered . It should be noted
that... . The fact that ... is stressed. It should be remembered that... . The
author draws the following conclusion that... .

Ex. 14. Translate the following text into Russian. Use the dictionary
if necessary.

Cars and trucks are major sources of noise pollution in most cities.
Most developed countries have had vehicle noise emission regulations
since 1970s. Technological progress in engines and exhaust systems has
made these vehicles considerably quieter. For example, the EU allowable
noise level of a modern truck is approximately equivalent to that of the
typical car in 1970. Nonetheless, the noise created by motorized trans-
portation remains a significant impact on urban residents’ health and
quality of life. Noise is often cited as the main nuisance in urban areas,
and traffic noise is the worst offender (a German study suggests that
65% of the population is adversely affected by road traffic noise, with
25% seriously affected).

As an indication, residential property values are measurably lower
near noise-producing main roads, highways and railroad tracks. A recent
study of Austrian schoolchildren found that the low but continuous noise
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of everyday local traffic can cause stress in children and raise blood
pressure, heart rates. The research, conducted by US and European re-
searchers, was the first major study of the nonauditory health effects of
typical ambient community noise.

Besides vehicle engines and exhaust pipes, much of the noise pro-
duced by vehicles today, especially in highway operations, results from
the movement of vehicles through the air, and the contact of tires with
the road. The former can be reduced by aerodynamic vehicle body de-
signs (which also have the effect of improving fuel efficiency and reduc-
ing emission). The latter can be reduced through tire thread designs and
improvements in pavement surface textures (which also have the effect
of draining water more effectively and so reducing the risks of accident).

Noise barriers can also minimize the impact of vehicle noise. Aircraft
are another important source of noise. Major airports typically handle
hundreds of thousands of aircraft arrivals and departures per year. Most
of these aircraft are jet-propelled. In most of the developed world, in-
creasingly stringent aircraft engine noise regulations have succeeded in
reducing the total noise exposure at most large airports. This is much less
true, however, for the developing world. In many cases, aircraft that can
no longer meet developed-world noise standards are sold to developing-
world operators and contiriue their noisy existence.

Unit Six: Transport in Cities

L

Ex. 1. Mind the new words and expressions

1. adverse - HeGnaronpusTHEIH, BpeJHbIH

2. to affect ~ HaHOCHTE Bpej, BIHATH

3. to cancel out — cBecTu Ha Her

4. constraint — orpasnueHue

5. to drive apart — oTanaTh ApYT OT Apyra

6. dormitory — cnaneHEI npuropox (paron)

7. hazardous — onacHelii, pHCKOBaHHBIi

8. to hinder ~ MewiaTh, NPENATCTBORATD, 34AEPXKUBATH, 3ATPY AHATH
9. intersection — MepexpecToK, NepecetieHne

10.log-jam - y3ko0e MecTO
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11.node ~ y3en, y3noBas Touka

12.to play down — nnpeyMeHbIIATS, yMaIATE

13.relevant — cyuiecTBEHHEIA, BaXKHEI

14.substantial — cyniecTBEHHbIN, BAXKHbIA, 3HAYUTEIHHBIH
15.smoothing — criaxuBanue, BHIpaBHUBaHNE
16.threshold — nopor; BopoTta, BXox

17.throughput ~ nponyckHas cnocoOHOCTE

Ex. 2. Match the word with the appropriate definition.
congestion, cost, agent, rush hour, interstate, transport, traffic jam.

1. a person who acts on behalf of another person, group, business, gov-
ernment, etc.; representative.

2. the state of being overcrowded, especially with traffic or people.

3. the amount of money that you have to pay in order to buy, do or pro-
duce something.

4. a wide road that goes between states, on which cars can travel fast.

5. the time of day, when the roads, buses, trains etc are most full, be-

cause people are travelling to or from work.

the business or system of transporting goods or people.

7. along line of vehicles on a road that cannot move or can only move
very slowly.

o

Ex. 3. Match the words with the similar meaning.

1. hazardous a) prerequisite

2. substantial b) unfavourable
3.impact c) insufficient

4. inadequate d) crossing

5. condition e) dangerous

6. play down f) substantial

7. intersection j) influence

8. relevant h) underestimate, understate
9. adverse i) essential, important
Ex. 4. Choose the right variant for each word combination.
1) combined transport a) rpy3oBOH TpaHCIOPT
2) commercial transport b) CyXOmyTHBIE [IEPEBO3KH
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3) cost of transport C) Tpy20BOH  aBTOMOOHNBHBbI

TPaHCHIOPT

4) inland transport d) TPaHCTIOPTHEIE M3IEPIKKH

S) intercity transport €) BHYTPEHHHWil TpaHCIOpT, Nepe-
BO3KH BHYTPb CTpaHbi

6) outwards transport f) koMOUHHpOBAHHEIE TEpeBO3KH

7) overland transport £) NepeBO3KU U3 CTPaHbl

8) facilities for transport h) MexcayHaposHBIi TpaHcriopT

9) urban mass transport i) TexHONMOrMUECKas OCHAMIEHHOCTD
TpaHCIopTa

10) goods transport J) TPaHCTIOPT [y NaCCaAKUPCKUX H

TPY30BBIX NEPEBO3OK (IPY30Bbie aB-
TOMOOMIIH, aBTOOYCHI, TPOMIEHByY-
Chbl)

11) road freight transport k) ropoxckoit  obuiecTBeHHbIIH
TPAHCIIOpT

Ex. 5. Scan the text to find answers to the following questions.

1. What is the origin of the term ‘transportation’?

2. What aspects does the field of transportation have?

3. What is important in cities to help public transport perform properly?
4. What are the main problems of urban transport sector?

Ex. 6. Read the text attentively for more information about different
aspects of transport and transportation.

Transport or transportation is the movement of people and goods
from one place to another. The term is derived from the Latin trans
("across") and portare ("to carry™). Industries which have the business of
providing equipment, actual transport, transport of people or goods and
services used in transport of goods or people make up a large broad and
important sector of most national economies, and are collectively re-
ferred to as transport industries.

Transport is more than just another sector of the economy. Transport
is the core of society. It gives a structure to space and our concept of
space. It shapes and reflects our ways of life and our cultures. It contrib-
utes to economic development, whereas the economy depends on goods
transportation. The functioning of society largely depends on the quality
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and design of the transportation system. A defective system will hurt
society badly,

The field of transport has several aspects: infrastructure, vehicles, and
operations. Infrastructure includes the transport networks (roads, rail-
ways, airways, waterways, canals, pipelines, etc.) that are used, as well
as the nodes or terminals (such as airports, railway stations, bus stations
and seaports).

An automobile is a wheeled passenger vehicle that carries its own
motor. Different types of automobiles include cars, buses, trucks, and
vans. Some include motorcycles in the category, but cars are the most
typical automobiles. As of 2002 there were 590 million passenger cars
worldwide (roughly one car for every ten people), of which 170 million
in the U.S (roughly one car for every two people).

The automobile was thought of as an environmental improvement over
horses when it was first introduced in the 1890s. In 2006, the automobile
was recognized as one of the primary sources of world-wide air pollution
and a cause of substantial noise pollution and adverse health effects.

Because of the much higher densities of people and activities, envi-
ronmental, economic, public health, social and quality of life considera-
tions and constraints are important in cities.

Urban transport has been led by professional transport planners and
traffic experts. This has led in most cities to a substantial overbuilding of
the road and supporting infrastructure, which has maximized throughput
in terms of the numbers of vehicles and the speeds with which they pass
through and move around in the built-up areas.

Too much infrastructure and too much smoothing for maximum vehi-
cle throughput means that in many cities there is too much traffic and
many - if not all - of the negative impacts that come with it.

The situation is most critical in the urban transport sector. Here, it is
not just a matter of constraints on comfort and freedom to choose the
means of transport — human safety and even freedom of movement are
involved. Although urban networks are neither permanently nor totally
log-jammed, congestion is a general phenomenon affecting all types of
traffic and means of transport. Traffic jams — now inseparable from the
urban scene — complicate the use of cars, buses and trams. Whatever the
mode of transport, getting round in certain urban areas is becoming an
increasingly time-consuming, difficult, uncomfortable, hazardous and
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stressful activity. Congestion is a daily fact on major roads, motorways,
and at important traffic intersections. Although statistics shows a fall in
accidents, the absolute numbers involved are still unacceptably high. In
reality, the theoretically faster ride on the motorway is frequently can-
celled out by congestion. Moreover, safety conditions created to cope
with fewer and slower vehicles are inadequate to deal with present con-
ditions. The quality of freight and passenger transportation and the eco-
nomic function are affected.

The most common negative factors here are:

Lack of safety: The safety aspect in transportation is often — and
wrongly — played down. It is highly relevant, particularly to road trans-
port. Every year, 50,000 people are killed and a further 1,500, 000 are
injured on European roads. The economic cost aside, this is totally unac-
ceptable in human and social terms. Although figures have fallen in the
long term, the annual body count is still far too high. The quality of safe-
ty on European roads is low.

Noise: Transport is a prime source of noise and vibration. These fac-
tors grow fast with traffic volume. In certain areas the noise levels now
hinder normal work and living. Hence, instead of uniting people, trans-
port can actually drive them apart. Indeed, it has actually transformed
some residential areas into human deserts, particularly where these ad-
join major urban arteries, highways, railway lines and airports. The qual-
ity of life in dormitory towns is affected.

Traffic density: Paradoxically, above a certain threshold, traffic den-
sity also hinders social relations. Very busy roads through villages and
built-up areas can make trip hazardous and actually restrict free move-
ment.

Ex. 7. Substitute the words in Russian with their appropriate
equivalents in English.

1. (3arop) is a daily fact on major roads, (aBTomMaructpansx), and at im-
portant traffic (mepekpectkax). 2. The quality of (6esonacnoctu) on Eu-
ropean roads is low. 3, Getting round in certain (ropoackux) areas is be-
coming an increasingly (oTHuMalounii MHoro BpemeHnH), difficult, un-
comfortable, (omacubiif) and stressful activity. 4. The (kauecTBo) of life
in (cnanbhbIx padoHax) is affected by. 5. The (kauectso) of (rpysonepe-
B030K) and passenger transportation and the economic function are (na-
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Hocutes Bpen). 6. The (6esonacHocTs) aspect in transportation is highly
(cywmecTBeHHBIH) particularly to road transport. 7. In 2006, the automo-
bile (b1 mpu3snan) as one of the primary sources of world-wide (3a-
rpasHeHue Bo3Ayxa) and a (puvuHa) of (cyniectBeHHoe) noise pollution
and (BpeliHOe BIMAHME Ha 340poBbe). 8. Transport is a prime (MCTOYHHK
myma) and vibration. 9. (I'opoackue TpaHcHOpTHBIE MPoGky) — now (He-
otaenumsl) from the (ropoackux) scene — (ycnoxusior) the use of cars,
buses and trams. 10. In reality the theoretically faster ride on the motor-
way is frequently (cBoautca Ha HeT) by congestion. 11. Too much infra-
structure and too much smoothing for maximum (nponyckHoit cnoco6-
HOCTH aBTOMOOMIEH) means that in many cities there is too much traffic
and many negative (Bo3zie#cTBHS).

Ex. 8. Fill in the blanks with the appropriate prepositions.

1. Transport contributes ..... economic development, as the economy
depends ..... good transportation. 2. Very busy roads ..... villages and
built-up areas can make trip hazardous. 3. Transport or transportation is
the movement ..... people and goods ..... one place ..... another. 4. Traf-
fic jams are now inseparable ..... the urban scene and complicate the use
..... cars, buses and trams. 5. Safety conditions created to cope ..... fewer
and slower vehicles are inadequate to deal ..... present conditions. 6. Pa-
radoxically, ..... a certain threshold, traffic density hinders social rela-
tions. 7. Congestion is a daily fact ..... major roads, motorways, and .....
important traffic intersections 8. Transport has actually transformed
some residential areas ..... human deserts.

Ex 9. Translate the sentences into Russian, paying attention to the
multifunctional word “term”.

1. The economic cost aside, this is totally unacceptable in human and
social terms. 2. Although figures have fallen in the long term, the an-
nual body count is still far too high. 3. The term CIP - CARRIAGE
AND INSURANCE PAID TO may be used for any mode of transport
including multimodal transport. 4. The main goal of producers and
sellers is to minimize costs for transportation and logistics and deliver
goods to customers in possibly shorter terms. 5. Substantial over-
building of the road and supporting infrastructure has maximized
throughput in terms of the numbers of vehicles and the speeds with

50



which they pass through and move around in the built-up areas. 6.
Different configurations have different advantages and disadvantages
in terms of smoothness, manufacturing cost and shape characteristics.

Ex. 10. Translate the sentences info Russian. Mind the different
meanings of the verb 1o be.

1. Efficiently operating transport networks in the former segmented
European space-economy are critical success factors for the competi-
tive edge of Europe. 2. Competitive efficiency is in the centre of cur-
rent European transport policy. 3. There is a major more recent policy
concern on the question whether transport will be devastating for en-
vironmentally sustainable development. 4. The purpose of production
logistics is to ensure that each machine and workstation is being fed
with the right product in the right quantity and quality at the right
point of time. 5. It is also through the physical distribution process
that the time and space of customer service become an integral part of
marketing, thus it links a marketing channel with customers. 6.
Transport is more than just another sector of the economy. 7. It is not
just a matter of constraints on comfort and freedom to choose the
means of transport. 8. Congestion is a daily fact on major roads, mo-
torways, and at important traffic intersections. 9. Another strategy is
to make vehicles more efficient, which reduces pollution and waste
by reducing the energy use.

Ex. 11. Translate the sentences into Russian. Mind the use of the
verbs in passive voice.

1. The automobile was thought of as an environmental improvement
over horses when it was first introduced in the 1890s. 2. In 2006, the au-
tomobile was recognized as one of the primary sources of world-wide air
pollution and a cause of substantial noise pollution and adverse health
effects. 3. Urban transport has been led by professionai transport plan-
ners and traffic experts. 4. Production logistics can be applied in existing
as well as new plants. 5. The term is primarily intended to be used when
goods are to be carried by rail or road, but it may be used for any mode
of transport. 6. The term DDP - Delivered Duty Paid may be used irre-
spective of the mode of transport.
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Ex. 12. Give the main points of the text in 4-7 sentences. Use the fol-
lowing clichés:

The text deals with... . The author points out that... . Atiention is
drawn to the fact that... . It is pointed out that... . It should be noted
that... . The author comes to the conclusion that... . 1 find the text ra-
ther/very... .

Ex. 13. Translate the following text into Russian. Use the dictionary
if necessary.

Traffic Control

Nearly all roadways are built with devices meant to control traffic.
Most notable to the motorist are those meant to communicate directly
with the driver. Broadly, these fall into three categories: signs, signals or
pavement markings. They help the driver navigate; they assign the right-
of-way at intersections; they indicate laws such as speed limits and park-
ing regulations; they advise of potential hazards; they indicate passing
and no passing zones; and otherwise deliver information and to assure
traffic is orderly and safe,

200 years ago these devices were signs, nearly all informal. In the late
19™ century signals began to appear in big cities at a few highly con-
gested intersections. They were manually operated, and consisted of se-
maphores, flags or paddles, or in some cases colored electric lights, all
modeled on railroad signals. In the 20™ century signals were automated,
at first with electromechanical devices and later with computers. Signals
can be quite sophisticated: with vehicle embedded in the pavement, the
signal can control and coordinate the turning movements of heavy traffic
in the most complex of intersections. In the 1920s traffic engineers
learned how to coordinate signals along a thoroughfare to increase its
speeds and volumes. In the 1980s, with computers, similar coordination
of whole networks became possible.

In the 1920s movement markings were introduced. Initially they were
used to indicate the road’s centerline. Soon after they were coded with
information to aid motorists in passing safely. Later, with multilane
roads they were used to define lanes. Other uses, such as indicating per-
mitted turning movements and pedestrian crossing soon followed.
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In the 20" century traffic control devices were standardized. Before
then every locality decided on what its devices would look like and
where they would be applied. This could be confusing, especially to traf-
fic from outside the locality. In the United States standardization was
first taken at the state level, and late in the century at the federal level.
Each country has a Manual of Uniform Traffic Control Devices
(MUTCD) and there are efforts to blend them into a worldwide standard.

Besides signals, signs and markings, other forms of traffic control are
designed and built into the roadway. For instance, curbs and rumble
strips can be used to keep traffic in a given lane and median barriers can
prevent left turns and even U-turns.

Unit Seven: Transportation and Logistics

Ex. 1. Mind the new words and expressions

auction — ayKI1OH, TOPr; NPOJABaTh C ayKIIMOHA;

to accomplish — BEINONHATE, COBepILATD

carrier— TPaHCHOPTHOE CPElCTBO, IEPEBO3UUK

destination — NyHKT Ha3Ha4YCHUS,;

to facilitate - copnelicTBOBaTh, CIOCOOCTBOBATD, 00NErYATD

implementation — BbINOJHEHUE, peau3alus, BHeApeHue

inventory — MatepuanbHo-TeXHHYeCKas Oaza

item — [POAYKT, U3/eNNe, OTAENbHbINA IPEIMET, MYHKT, CTAThA

life cycle — Ju3HEHHBIA WAKI (M3A€RUS), MEPUOJ FKCILTYATALMM

10.1ogistics —~ MarepualibHO-TeXHUYeckas Oaza

11.notably — ocobeHHO, B 0cODeHHOCTH

12.probability — BepoATHOCTb. BO3MOXKHOCTH

13.repositioning — U3MeHEHHE NOJIOXKEHNS, IEPEYCTAHOBKA

14.reverse auction - o6paTHbli ayKLHOH( AyKLMOH, B KOTOPOM y4acTRY-~
€T OJMH MOKYTAaTeNb  HECKONBKO KOHKYPHPYIOUIMX NPOAABLIOR)

15.simultaneously — oiHOBpeMEHHO, COBMECTHO

16.supply chain — noructMyeckas lenodka, LUENoYKa MOCTaBOK, CETh
[10CTAaBOK

17.transaction - caenka, cornaigeHue

18.warehousing - cknagupoBaHde

A BT ool ) e
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Ex. 2. Match the word with the appropriate definition.

consumer, producer, auction, client, contract, carrier

1. a person or business enterprise that generates goods or services for sale.
2. aperson, thing, or organization employed to carry goods, passengers, etc.
3. someone who gets services or advice from a professional person,

company or organization.

4. someone who buys and uses products and services.
5. an official agreement between two or more people, stating what each

will do.

6. a public sale of goods or property, esp. one in which prospective pur-
chasers bid against each other until the highest price is reached.

Ex. 3. Match the words and word combinations with the similar

meaning.

1) goal

2) to facilitate

3) to benefit

4) simultaneously
5) decrease

6) conventional
7) competition

8) participant

9) implementation
10) carrier

11) transaction
12) warehouse

a) usual

b) partaker
c) rivalry

d) at the same time
e¢) forwarder
f) aim

g) to profit
h) realization
Jj) to assist

k) decline

1) storehouse
m) deal

Ex. 4. Choose the right variant for each word combination.

1) open and fair competition
2) to minimize costs

3) unprecedented amount of par-
ticipants

4) in possibly shorter terms

5) at possibly lower costs
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a) B BO3MOXHO KOPOTKHE CPOKH
b) peanuzans HOBBIX
TEXHOJIOTHA

) MocTaBKa TOBAapOB /IO MeCTa
HA3HA4YEHHUS

d) CHU3HUTD 3aTpaThl

€) B AAHHOH cCUTyauuu



6) implementation of new tech- f) cHmxeHue 3arpar Ha nepe-

nologies BO3KH

7) deliver the goods to the destina- g) OTKpbiTa! M  4YecTHas
tion KOHKYpeHlNS

8) decrease of costs of transporta- h) GecrnipeuieieHTHOE KonHye-
tion CTBO YYacTHUKOB

9) in the current situation i) LIeNnoYKa NoCTaBOK

10) supply chain j) No HanMeHbLIeH LieHe

Ex. 5. Look up the meaning of the word combination in a dictionary.

At large...and...in particular Consequently
It is worthy to note Moreover
. Asarule Furthermore
As aresult Primarily
It is necessary to point out It is logical to wonder

Ex. 6. Scan the text to find answers to these questions.

What does logistics management do?

What are the main functions of a qualified logistician?

What are the goals of producers and sellers in transportation?

What are the advantages of electronic reverse auctions compared to
conventional auctions?

5. What is the effect of open competition in electronic reverse auctions?

bl S

Ex. 7. Read the text attentively and say what you have learnt about
transportation, logistics and electronic auctions.

Logistics is the art and science of managing and controlling the flow
of goods, energy, information and other resources like products, services
and people from the source of production to the marketplace. It is diffi-
cult or nearly impossible to accomplish any international trading, global
export/import processes, international repositioning of raw materi-
als/products and manufacturing without a professional logistical support.
It involves the integration of information, transportation, inventory,
warehousing, material handling, and packaging. The operating responsi-
bility of logistics is the geographical repositioning of raw materials,
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work in process and finished inventories where required at the lowest
cost possible.

Logistics is an idea considered to have transformed from the military's
need to supply them as they moved from their base to a forward position.

Logistician is the profession in the logistics & transport sectors, in-
cluding sea, air, land and rail modes.

Logistics management is that part of the supply chain which plans,
implements and controls the efficient, effective forward and reverse flow
and storage of goods, services and related information between the point
of origin and the point of consumption in order to meet customers' re-
quirements. A professional working in the field of logistics management
is called a logistician.

Supply Chain can be defined as having the right item in the right
quantity at the right time at the right place for the right price and is the
science of process and incorporates all industry sectors. The goal of lo-
gistics work is to manage the fruition of project life cycles, supply chains
and resultant efficiencies.

The main functions of a qualified logistician include inventory man-
agement, purchasing, transportation, warehousing, consultation and the
organizing and planning of these activities. Logisticians combine a pro-
fessional knowledge of each of these functions so that there is a coordi-
nation of resources in an organization. There are two fundamentally dif-
ferent forms of logistics. One optimizes a steady flow of material
through a network of transport links and storage nodes. The other coor-
dinates a sequence of resources to carry out some project.

% o ok %k k

Traditionally, logistics and transportation are extremely important for
successful operating of any company as well as the whole market at large.
As a rule, the main goal of producers and sellers, as well as buyers, is to
minimize costs for transportation and logistics and deliver goods to cus-
tomers in possibly shorter terms. In the current situation, a variety of tools
is used to achieve this goal. Innovative technologies, especially IT, com-
puting, Internet, etc., are playing increasingly more important role and are
commonly used to facilitate transportation and logistics.

As a result, auctions, using an electronic reverse auction platform, are
growing to be popular and widely spread. It is necessary to point out that
electronic reverse auctions have a lot of advantages compared to conven-
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tional auctions. Primarily, electronic reverse auctions may lead to a suc-
cessful cooperation between producers of different goods to transport to
various destinations and carriers. It is logical to wonder what both pro-
ducers and carriers benefit from such cooperation which may lead to in-
creasing of speed of transactions since producers receive not only the
possibility to sell their goods but, at the same time, they have got a pos-
sibility to find a carrier that can deliver the goods to the destination. In
such a way, two operations could be run simultaneously that seems to be
extremely beneficial for sellers, i.e. producers.

Furthermore, the reverse auction provides producers with the possi-
bility to choose from a large amount of carriers. In such a situation, the
essential conditions for open and fair competition are created since pro-
ducers can choose carriers on the basis of objective principles identical
for all participants of the auction. On the other hand, carriers can supply
their services to a large number of sellers and, consequently, can also
easily find their potential customer.

Moreover, the open competition stimulates carriers to the improvement
of their services and it may also result in certain decrease of costs of trans-
portation for producers. Implementation of new technologies, notably elec-
tronic reverse auctions leads to the implementation of high technologies in
transportation and logistics at large. It also opens new perspectives for re-
verse auctions since, being based on electronic platform, they can involve
unprecedented amount of participants. Consequently, the probability that
producers will find their clients and carrier, which will transport the goods
to the destination at possibly lower costs, increases.

Thus, taking into account all above mentioned, it is possible to con-
clude that the implementation of electronic reverse auctions leading to
better cooperation between producers and carriers perfectly demonstrates
the possibilities of new technologies applied to business at large and
transportation and logistics in particular.

Ex. 8. Substitute the words in Russian with their appropriate
equivalents in English.

1. Logistics management is that part of the (nenoukn nocrasok) which
implements and controls (ripsiMoii u o6paTHbIii I0TOK ToBapoB) between
the point of origin and (myuxToM norpeGnenus) in order to meet (3arnpo-
chl noTpeduTeneit). 2. It is necessary to point out that electronic reverse
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auctions have a lot of (npeumyiecTs) compared to (06sransii) auctions.
3. The main (uens) is to minimize (3aTpatht) for transportation and logis-
tics and deliver goods to customers (B BO3MOXHO KOPOTKWE CPOKH). 4.
The main functions of a qualified (yioructa) include inventory manage-
ment, (Mokyrky), transportation, (ckiaguposasnue), consultation and the
organizing and planning of these activities. 5. (Bueapenue) of electronic
reverse auctions leads to better (cotpyauuuectBo) between producers
and carriers. 6. The open (koHkypenius) stimulates carriers to the
(ynyuuienne) of their services and it may also result in certain
(ymenbllienne pacxonoB) of transportation for producers. 7. Two opera-
tions could be run (omHoBpemenHo) that seems to be extremely
(suironno) for sellers. 8 The essential conditions for (oTkpeitas u
yecTHas) competition are created. 9. (Ilepeso3zuukn) can (MOCTaBAATH
cBoM ycayrH) to a large number of sellers and, (cnefgoBarensHo), can also
easily find their potential (norpe6urens). 10. Professional (moructuye-
ckas nofguepxka) involves the integration of information, transportation,
(MatepuanbHoO-TexHuyeckas 6Oasa), material handling, and packaging.
11.(JTornctuueckas 1enouka)can be defined as having the (coorserct-
Byroumii npeamer) in the ( cooTBercTBYIOWIEM KoauuecTBe) at the (co-
oTBeTCTBYIOUIEe Bpems) at the (cooTBercTByroieM Mecte) for the ( co-
orBercTByromyo neny) and is the science of process and incorporates
all industry sectors. 12. It is difficult or nearly (1eBo3mOxxHO) to (coBep-
1narp) any international (Toproio) global export/import process, inter-
national (u3Menenus nonoxenus) of (ceipbeBrIX) materials and manu-
facturing without professional (noriucradeckas noauepxka).

Ex. 9. Fill in the blanks with the appropriate prepositions.

1. The reverse auction provides producers .... the possibility to choose
..... a large amount of carriers. 2. Carrier will transport the goods .... the

destination ..... possibly lower costs. 3. Producers can choose carriers
..... the basis of objective principles identical ..... all participants of the
auction. 4. Both producers and carriers benefit ..... such cooperation. 5.

Logistics is the art and science of managing and controlling the flow of
goods... the source of production ... the marketplace. 6 It is difficult to
accomplish any international trading .... a professional logistical sup-
port.. 7. Logistics management plans the flow and storage of goods ...
the point of origin and the point of consumption. 8. Supply Chain can be
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defined as having the right item ... the right quantity ... the right time ...

the right place ... the right price.

Ex. 10. Choose the right variant for each word combination.

1) available inventory
2) book inventory

3) finished goods inventory

4) lot-size inventory
5) replenishment of inventories

6) projected inventory turnover rate
7) supply inventory
8) taking inventory

9) target inventory level

10) seasonal inventory

11) in-transit inventory

12) inventory and valuation policy
13) inventory balance

14) inventory carrying charge rate
15) inventory carrying costs

a) Ce30HHBIH 3amac

b) 3anacs! B myTH (Ha MOMEHT
yyera HaxoJsmHecs B pouecce
NIepeBO3KH

C) MaKcHMabHBIi 3anac (CymMMa
TEKYLHX, TOJArOTOBUTENBHBIX,
CTPaxOBOTO 3aMacoB Npu
NpEeBBILLIEHUH KOTOPBIX
006pa3yroTcst U3ITULIKH)

d) ypoBens 3anacor

€) 3arac BCIIOMOTaTeNbHbBIX
MarepuanoB

f) 3anacel roTOBOM NPOAYKLHH
g) HaJInyHple 3anachl

h) 3arparet Ha gopMEpOBaHUE H
XpaHEeHHUe 3aracoB

i) NpOrHo3upyeMBblit

ko3 unUeHT
060paYHBaEMOCTH 3aNacoB

J) BOCCTaHOB/IEHHE YPOBHS
3anacoB

k) vHBeHTapHbI{ y4eT ToBapHo-
MaTepHabHBIX 3a11aCOB)

1) cTpaxoBoii MonUc ¢ OMUCHIO H
OLICHKOH

m) TeKyHIHe 3anachl

M) CTOMMOCTbL XpaHeHus 3aMacoB
0) poBe/ieHNe UHBEHTAPU3aLIUH

Ex. 11. Translate the following sentences into Russian. Mind the use

of the infinitive.

1. In order to respond to random orders from consumers and to stabilize
the production process, inventories are maintained at sections of the pro-

59



duction process. 2. The ability to communicate almost instantaneously,
large amounts of information and data to suppliers, customers and trans-
port providers has allowed firms to operate with increased efficiency. 3.
It is critical to predict how a particular shift in logistics will affect the
demand for transport services and how a shift in transport production
will affect the infrastructure system. 4. To keep costs down and avoid an
increase in the number of trucks on the roads, shipments must be con-
solidated. 5. For the European economy to operate as a single market
there has to be presence of common transport policy. 6. The purpose of
the cooperation is to make it possible to support research and develop-
ment activities on road traffic noise of common interest to the two par-
ties. 7. To protect their own market share the national companies will not
complete with other smaller and regional companies.

Ex. 12. Translate the sentences into Russian, paying attention to the
emphatic construction.

1. Tt is a transport logistic system based on new transport technology that
ensures fast and safe movement of goods at least costs. 2. [t was not until
the 1980’s that environmental impacts were considered. 3. It is the aim
of the Danish Road Institute that pavements cause as little noise as pos-
sible for the sake of the neighbors and yet are safe to use for the road
users. 4. It was in the early 1900s that closed container boxes designed
for movement between road and rail were adopted. 5. It was Harvard
University economist Benjamin Chinitz predicted that containerization
would benefit New York by allowing it to ship industrial goods produced
there more cheaply to the Southern United States than to other areas. 6. It
was not until the 1950s that containers started to revolutionize freight
transportation.

Ex. 13. Give the main points of the text in 4-7 sentences. Use the fol-
lowing clichés:

The text is about... . It is shown that... . In the opinion of the author it
is ... . Of special interest is his argument that... . The author concludes
by saying that... .
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Ex. 14. Translate the following text into Russian. Use the dictionary
if necessary.

Multimodal transport is one of highly effective and modern ways
of facilitating movement of imports and exports. It is a transport lo-
gistic system based on new transport technology that ensures fast and
safe movement of goods at least costs.

Facilitation of trade and transport sectors calls for procedural, legal and
institutional reforms to simplify, standardise and harmonise procedures
and documentation that will help to achieve movement of goods at a min-
imum cost and time. This covers a wide spectrum of activities including
human resource development, physical infrastructures, and the use of new
transport and information technologies. Multimodal transport is one of
highly effective and modern ways of facilitating movement of imports and
exports. It is a transport logistic system based on new transport technology
that ensures fast and safe movement of goods at least costs.

The United Nations Convention on International Multimodal
Transport of Goods of 1980 defines multimodal transport as " the car-
riage of goods by at least two different modes of transport on the ba-
sis of a multimodal transport contract from a place in one country at
which the goods are taken in charge by the multimodal transport op-
erator (MTO) to a place designated for delivery situated in a different
country”. The definition has clearly identified four basic characteris-
tics of multimodal transport such as the use at least two modes of
transport, transfer of goods between two countries, issuance of a
transport confract and the performance by a multimodal transport
contractor taking in charge of whole movement of cargo.

A multimodal transport contract is a contract whereby a multimo-
dal transport operator undertakes against payment of freight, to per-
form, or to procure the performance of international multimodal
transport. This is performed through the issuance of an MTD as an
evidence of the multimodal transport contract, taking in charge of the
goods with an undertaking by the MTO, 1o deliver the goods in ac-
cordance with the contract terms.
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Unit Eight: FIATA

Ex.1. Mind the new words and expressions.

R S

10.
11.
12.
13.
14.

15.

16.

17.
18.

Ex

barcode — mTpux koa

to bring forward — BLIIBUIaTE ( TIPEAJIOKEHME)
dissemination, - pacmpocTpaHeHue

distribution - pacnpoctpaHeHue

distinctive — OTIMYHMTENBHBIN, XapaKTePHbIi
distinguishable — pa3nuuuMbiit, OTIHYUMBI

to enhance — yBenv4uBAaTh, Y1y4lliarh, yCHIMBATH

to evaluate — oLeHUBaTh

to familiarise — o3HaKOMIATEL

forwarder (forwarding agent) —3xcrienuTop, NepeBoO3YUK
freight - rpys, dpaxt

HQ headquarter - wrta6

institute ~ (34.) acconuauus

liability insurance — crpaxoBaHue OTBETCTBEHHOCTH

logo (cokp.ot logotype) — norotun, GpupMeHHbIH WK TOBAPHbI 3HAK
objective, target — nenn

to submit — NpeACTaBUTL Ha paCCMOTpPEHHE

Synergy — COBMECTHas JesATeJLHOCTD (YCreniHas)

. 2. Match the word with the appropriate definition.

container, logistics, agent, toll, carrier, barcode

I.

2.

(%)
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a person or company that represents another person or company espe-
cially in business.

a group of thin and thick lines printed on products you buy in a shop
and which a computer can read. It contains information such as the
price.

. acompany that moves goods or passengers from one place to another.
. alarge cargo-carrying standard-sized box that can be loaded from one

mode of transport to another.

. the management of materials flow through an organization, from raw

materials through to finished goods.

. the money you have to pay to use a particular road, bridge, etc.



Ex. 3. Match the words with the similar meaning.

. benefit

. advisor

. objective

. freight

. freight dispatcher
. freight forward

. distribution

. bring forward

9. distinctive

10. logo

11. implementation
12. forwarder

113. institute

14. evaluate

o 1O\ AW N

a) appreciate

b) expeditor

c) load, cargo

d) association

e) trade mark

f) shipper

g) distinguishing
h) advantage

i) realization

j) goal, target

k) dissimilation
1) consultant

m) come forward

n) freight prepaid

Ex. 4. Choose the right variant. Pay attention to the use of the word

"freight"'.

1. freight advance
2. freight agent

3. freight charge

4. freight clause

5. freight dispatcher
6. freight flow

7. freight home

8. freight-handling company
9. freight note

10. freight rate

11. freight receiver
12. freight release
13. freight revenue
14. freight terminal
1S. freight tumover
16. freight yard

a) ycnosue o0 onnate

b) ToBapHas y3a0Bas CTAHLIUA

¢) rpy3oobopoT

d) noxoa oT rpy30BBIX NIEPEBO30OK
e) aBanc ¢paxra

f) oOparusiii ¢ppaxr

g) ycnopue o6 omare ¢paxra

h) rpysoornpaBurens

1) rpy30n0TOK

}) areHT no (paxTopxe onepauuit
k) cTouMoCTh NEPEBO3KY IPY30B
1) rpy30Boii napk

m) ¢upma rpysoobpaboriux
'n) pa3pelierye Ha Bblaady rpysa
0) hpaxToBas CTaBKa

p) rpy3onony4arens
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Ex. 5. Scan the text to give the answers to the following questions.

1. What does the abbreviation FIATA stand for?

2. What does FIATA represent today?

3. What are the main objectives of FIATA?

4. Why has FIATA created several documents and forms?

5. There are five Advisory Bodies of FIATA, aren’t they? Name them.

Ex. 6. Read the text attentively for more information about FIATA.

FIATA, in French "Fédération Internationale des Associations de Tran-
sitaires et Assimilés”, in English "International Federation of Freight For-
warders Associations was founded in Vienna/Austria on May 31, 1926.

FIATA, a non-governmental organisation, represents today an industry
covering approximately 40,000 forwarding and logistics firms, also known
as the "Architects of Transport”, employing around 8-10 million people in
150 countries.

FIATA has consultative status with the Economic and Social Council
(ECOSOC) of the United Nations, the United Nations Conference on
Trade and Development (UNCTAD), and the UN Commission on Interna-
tional Trade Law (UNCITRAL).

It is recognised as representing the freight forwarding industry by many
other governmental organisations, governmental authorities, private inter-
national organisations in the field of transport such as the International
Chamber of Commerce (ICC), the International Road Transport Union
(IRU), the World Customs Organization (WCO), the World Trade Organi-
zation (WTO), etc.

In summary FIATA is the largest non-governmental organisation in the
field of transportation. Its influence is worldwide.

Objectives

FIATA's main objectives are: to unite the freight forwarding industry
worldwide; to represent, promote and protect the interests of the industry
by participating as advisors or experts in meetings of international bodies
dealing with transportation; to familiarise trade and industry and the public
at large with the services rendered by freight forwarders through the dis-
semination of information, distribution of publications, etc.; to improve the
quality of services rendered by freight forwarders by developing and pro-
moting uniform forwarding documents, standard trading conditions, etc.;
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to assist with vocational training for freight forwarders, liability insurance
problems, tools for electronic commerce including electronic data inter-
change (EDI) and barcode.

Congresses

Each year, FIATA holds a World Congress. This international event
brings together the freight forwarding industry and transport world. It
serves to conduct the business of the Federation, is a social occasion and
last but not least acts as a meeting place to conduct business. Participation
is between 800 - 1500 persons.

Organisation FIATA is structured irto Institutes, Advisory Bodies, and
Working Groups each in their turn dealing with every aspect that affects
the international movement of freight.

The Institutes, which usually meet twice a year, carry out the technical
work of the Federation. Currently FIATA has three, namely the Airfreight
Institute (AFI); Customs Affairs Institute (CAI); Muitimodal Transport
Institute (MTT).

Some of the Institutes have some permanent Working Groups; e.g. the
MTT has three for Sea, Rail and Road Transport, and the AFI one for
IATA matters. Working Groups report to their respective Institutes and
meet according to necessity.

For matters that affect the whole of the freight forwarding industry
there are five Advisory Bodies:

» Advisory Body Dangerous Goods (ABDG)

» Advisory Body Information Technology (ABIT)

» Advisory Body Legal Matters (ABLM)

» Advisory Body Public Relations (ABPR)

» Advisory Body Vocational Training (ABVT)

They co-operate with the Institutes and Working Groups, if required,
and meet according to necessity.

Regional Meetings

FIATA National Association members are divided into 4 regions world-
wide. These are: Africa/Middle East, Americas, Asia/Pacific, Europe.

Each Region meets twice every year; during the HQ Session in Zurich
and at the FIATA World Congress. The prime target of these regional
meetings is to bring forward the specific issues of regional concern and
interest, and if necessary submit them to the Institutes and Advisory Bod-
ies of FIATA, the intention being to identify and assist regional members
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in solving the local difficulties. Another important topic is to gain syner-
gies between the member countries of the regions and to import and export
these benefits to other national associations.

Documents

FIATA has created several documents and forms to establish a uniform
standard for use by freight forwarders worldwide. The documents are easily
distinguishable as each has a distinctive colour and carries the FIATA logo.

» FIATA FCR (Forwarders Certificate of Receipt) - cepruduiar 3xc-
NEUTOPa O MOTYUSHH Ipy3a

* FIATA FCT (Forwarders Certificate of Transport) - cepruduxar
SKCHEANTOPA O TPAHCTIOPTUPOBKE IPy3a

* FWR (FIATA Warehouse Receipt) — CK1aACKOe CBUAETENLCTBO

« FBL (negotiable FIATA Multimodal Transport Bill of Lading) -
MY IETHMOAATBHBIA TPaHCTIOPTHBIH KOHOCAMEHT

« FWB (non-negotiable FIATA Multimodal Transport Waybill)- ne-
00OpOTHas MY/IBTHMOAA/IBHAS TPAHCIIOPTHAA HAKIIAAHAs

« FIATA SDT (Shippers Declaration for the Transport of Dangerous
Goods) - geknapanus rpy300TIPaBUTENA O TPAHCIOPTHPOBKE ONMACHBIX
rpy30B

« FIATA SIC (Shippers Intermodal Weight Certificate) - unTepMO-
JIanLHBIT BECOBOM cepTH(HKAT rpy300TIPaBUTENA

« FFI (FIATA Forwarding Instructions) — dopma 3kcreIMTOPCKHX HH-
CTPYKLMA

FIATA documents have an excellent reputation and are recognised as
documents of tradition and trust. They have greatly contributed in the past
to the facilitation of international exchanges and will continue in the future
to be valuable instruments in the service of world trade.

Ex. 7. Substitute the words in Russian with their appropriate
equivalents in English.

1. FIATA’s main (uens) is to unite (TPaHCIOPTHO IKCIEAUUMOHHYIO)
industry worldwide. 2. FIATA is structured into Institutes, (xoHcynbTa-~
tuBHbIe opraHbi) and working groups dealing with the international
(oBuxenue rpysos). 3. FIATA assists with (npo6aemamu cTpaxoBoii
orBetcTBeHHocTH) and electronic (0oOmen maHHbiMH) and  (wTpUx
xonamu). 4. FIATA documents are easily (oT1MunMsble) as each carries
the FIATA (dupmennnlii 31ak) at the head of the page. 5.The prime
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(uens) of the HQ Session held in Zurich twice every year is to (selapu-
rats) specific (Bonpocsr) and (ipegocTaBigTE Ha paccMoTpeHue) them to
(xoHcyneTaTuBHbIe opranbl) of FIATA. 6. FIATA tries to (yay4wnTs)
the quality of services rendered by (axcnemuropamu) by promoting uni-
form (3xcniemuropckue) documents. 7. FIATA documents are recognized
as documents of tradition and (momepue) which have contributed to the
(oberdeHue MeXIyHapoIHbIX 0OMEHOB).

Ex. 8. Fill in the blanks with the suitable prepositions.

1. FIATA represents and protects the interests .... the industry .... par-
ticipating as advisors or experts .... meetings of international bodies
dealing ..... transportation. 2. FIATA is structured ..... Institutes which
usually meet twice per year and carry ..... the technical work of the Fed-
eration. 3. The prime target..... regional meetings is to bring ...... and
submit ..... the Institutes the specific issues of regional concern and in-
terest. 4.FIATA documents have contributed .....the facilitation of inter-
national exchanges. 5.FIATA has consultative status ..... ECOSOC of
the UN and the UN Commission ..... International Trade Law. 6.FIATA
aims to familiarize trade and industry..... the services rendered .....
freight forwarders through the dissemination ...... information, distribu-
tion ..... publications.

Ex. 9. Make up questions, the answers to which are given in the
right-hand column.

What for....? To establish a uniform standard
for use by freight forwarders
worldwide

Where and when...? In Zurich twice every year

How many...? 40 000 forwarding firms

When and where...? In Vienna'in1926

What organizations...? ICC,IRU,WCO

What... for? Its influence is worldwide

Ex. 10. Match the right variants.

1. Y.AR. - York-Antwerp Rules a) 10 JOBEPEHHOCTH
2. w., wt. - weight b) npownoro Mecsaua
3. urgt. - urgent ) OrpaHHYUTeIbHASA AeNOBas
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4_ult. - ultimate

5. UCC - Uniform Commercial
Code

6. SNA - System of National Ac-
counts

7. RBP - Restrictive Business Prac-
tice

8. per pro. - per procurationem

9.n.r.t. - netregister tonnage

10. JV - Joint Venture

11. IDR - International Depositary
Receipt

12. emb. - embargo

npakTuKa

d) Bec

€) MEXIYHAPOAHOE Aeno3n-~
TapPHOE CBHETENHCTBO

f) enuHbIIT KOMMepYeCKHii kKo-
JEeKC

£) COBMECTHOE [peNpUsTHE

h) Hopx-AnTBepnenckue
ApaBHIa

i} ambapro, sanper

j) cpounsIit

k) cucrema HaUHOHAILHBIX
cueroB

1) 9UCTBIH perucTpoBbiii TOH-

Hax

Ex. 11. Translate the following sentences into Russian. Mind the use
of the infinitive.

1. The aim of the advanced logistics is to decrease the costs of produc-
tion and distribution. 2. The management system or the organization re-
sponsible for the business transactions within the production system and
the physical distribution has to be adapted to the new concept. 3. High-
quality road transport is expected to increase while general haulage will
decrease. 4. The success of express transport is likely to be more de-
pendent on the quality of the service offered than on speed. 5. Automatic
vehicle identification will be used to help track vehicles and shipments.
6. The charge is expected to vary according to distance travelled, vehicle
type and road type. 7. In order to reduce the extent of feeling unsafe on
journeys by public transport it may be necessary to implement measures.
8. Logistics is the management of the flow of goods, information and
other resources, including energy and people, between the point of origin
and the point of consumption in order to meet the requirements of con-
sumers.
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Ex. 12. Translate the sentences into Russian. Mind the use of the
modal verbs.

1. A balance needs to be struck between the requirements of the Cus-
toms authorities on the one hand and those of the transport operators on
the other. 2. Transport is such a visible activity and such a politically
sensitive one that important public policy questions. 3. Sweden has to
separate companies, one for the rail infrastructure and one for the rolling
stock and operations. 4. Quality programmes have to be as important in
distribution as they are now for leading manufacturing companies. 5.
The transport operator has to be able to predict and keep to time win-
dows at both pick-up and delivery locations. 6. Users also can create
shipment status reports and then electronically e-mail them to anyone
who needs to know.

Ex. 13. Translate the sentences into Russian. Mind the use of em-
phatic constructions.

1. It is the aim of the Danish Road Institute that pavements cause as
little noise as possible for the sake of the neighbors and yet are safe to
use for the road users. 2. It is also through the physical distribution proc-
ess that the time and space of customer service becomes an integral part
of marketing, thus it links a marketing channel with customers. 3. It is a
transport logistic system based on new transport technology that ensures
fast and safe movement of goods at least costs. 4. It is the emergence of
intermodalism that has been brought about in part by technology and
requires management units for freight such as containers, swap bodies,
pallets or semi-trailers. 5. It is the container that limits the risks for goods
it transports because it is resistant to shocks and weather conditions.

Ex. 14. Give the main points of the text in 4-7 sentences. You may
use the following clichés:

The text is devoted to ... . Attention is drawn to the fact that... . It is
pointed out that... . It should be noted that... . The author concludes by
saying that ... . I find the text rather/very... .
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Ex. 15. Translate the following text into Russian. Use the dictionary
if necessary.

CFR - COST AND FREIGHT (... named port of destina-
tion). "Cost and Freight” means that the seller must pay the costs and
freight necessary to bring the goods to the named port of destination
but the risk of loss of or damage to the goods, as well as any addi-
tional costs due to events occurring after the time the goods have been
delivered on board the vessel, is transferred from the seller to the
buyer when the goods pass the ship's rail in the port of shipment. The
CFR term requires the seller to clear the goods for export. This term
can only be used for sea and inland waterway transport. When the
ship's rail serves no practical purpose, such as in the case of roll-
on/roli-off or container traffic, the CPT term is more appropriate to use.

CIF - COST, INSURANCE AND FREIGHT (... named port of des-
tination). Cost, Insurance and Freight" means that the seller has the
same obligations as under CFR but with the addition that he has to pro-
cure marine insurance against the buyer's risk of loss of or damage to
the goods during the carriage. The seller contracts for insurance and
pays the insurance premium. The buyer should note that under the CIF
term the seller is only required to obtain insurance on minimum cover-
age. The CIF term requires the seller to clear the goods for export. This
term can only be used for sea and inland waterway transport. When the
ship's rail serves no practical purposes such as in the case of roll-on/ roll-
off or container traffic, the CIP term is more appropriate to use.

FCA - FREE CARRIER (... named place). "Free Carrier" means
that the seller fulfils his obligation to deliver when he has handed
over the goods, cleared for export, into the charge of the carrier
named by the buyer at the named place or point. If no precise point is
indicated by the buyer, the seller may choose within the place or range
stipulated where the carrier shall take the goods into his charge.
When, according to commercial practice, the seller's assistance is re-
quired in making the contract with the carrier (such as in rail or air
transport) the seller may act at the buyer's risk and expense. This term
may be used for any mode of transport, including multimodal transport.
“Carrier" means any person who, in a contract of carriage, undertakes
to perform or to procure the performance of carriage by rail, road, sea,
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air, inland waterway or by a combination of such modes. If the buyer
instructs the seller to deliver the cargo to a person, e.g. a freight for-
warder who is not a "carrier", the seller is deemed to have fulfilled his
obligation to deliver the goods when they are in the custody of that per-
son. "Transport terminal”, means a railway terminal, a freight station, a
container terminal or yard, a multi-purpose cargo terminal or any simi-
lar receiving point. "Container" includes any equipment used to uni-
tise cargo, e.g. all types of containers and/or flats, whether ISO ac-
cepted or not, trailers, swap bodies, ro-ro equipment, igloos, and ap-
plies to all modes of transport.

FAS - FREE ALONGSIDE SHIP (... named port of ship-
ment). "Free Alongside Ship" means that the seller fulfils his obliga-
tion to deliver when the goods have been placed alongside the vessel
on the quay or in lighters at the named port of shipment. This means
that the buyer has to bear all costs and risks of loss of or damage
to the goods from that moment. The FAS term requires the buyer to
clear the goods for export. It should not be used when the buyer cannot
carry out directly or indirectly the export formalities. This term can
only be used for sea or inland waterway transport.

FOB - FREE ON BOARD (... named port of shipment). "Free
on Board" means that the seller fulfils his obligation to deliver when
the goods have passed over the ship's rail at the named port of shipment.
This means that the buyer has to bear all costs and risks of loss of or
damage to the goods from that point. The FOB term requires the sel-
ler to clear the goods for export. This term can only be used for sea or
inland waterway transport. When the ship's rail serves no practical pur-
pose, such as in the case of roll-on/roll-off or container traffic, the
FCA term is more appropriate to use.

Unit Nine: TIR
——

Ex. 1. Mind the new words and expressions

1. accession — BCTyTAEHUE, AOCTYI
2. assessment - oleHKa
3. to avoid — H3berats , OTKIIOHATE
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4. auspices-rOKPOBUTENBCTRO, IPOTEKLIMA, COJICHCTBHE;

(under the auspices of — IpH COAEHCTBUM, MO MOKPOBUTEILCTBOM)

bond — TaMoXxeHHas 3aKjlaqHas

6. camet — KapHeT (TaMOXEHHas AMUCH3MA HA MpPOE3JA aBTOMALIMHbI
qepe3 rpaHuLy )

7. contracting parties — KOHTPareHThl, JJOI'OBAPUBAIOIINECS CTOPOHbI

8. compartment — Kyne, OTAENICHUE, OTCEK, KaMepa

9. to cover — BKJIt04YaTh B €0, 0XBATHIBATh, OTHOCMTHCA K Y-JI

10.customs - TaMOKEHHbIE NOLTUHBI, HAJIOT

11.delay — 3anepxxa, NpensaTcTBUE

12.to devise — pazpabaTbIBaTsH

13.to dispense with - o6xoauTbca 6e3 yero nubo

14.duty — Hanor, NoiIMHA

15.expenses —pacxofbl, U3AEPHKKM, 3aTPATHI

16.1facilitation ~ obnerdenue, MoMollb

17.frontier ~ rpanuna

18.flexible - rnbkuit

19.impediment — riperpazga, NpenATCTBUE

20.imposition — HanoXxeHKe, 0010KEeHUE

21.interference — BMeLLATENBCTBO

22.to involve — Bkinoyarb B cebs

23.issue — BBITYCK, NyOIIHKaus

24 legislation — 3aKOHOATE/ILCTBO, 3aKOH

25.load — rpys, napTus rpysa

26.maritime — Mopcko¥

27.0bvious — oueBUIHBIH

28.provision — MOI0KeHHE, YCaoBUe { AOTOBOPa)

29.revenue — 10x0.

30.routine - crangapTHEIA, TeKyLUHi

31.sine qui non — (JTaTHHCK.) 06s13aTENBLHOE, HEHPEMEHHOE YCIIOBHE

32.seal — rievars, njaoMoba

33.swap-body - cMeHHBIH Ky30B IUIl CMELIAHHBIX ABTOMOOHNIBHO-
KeJIE3SHOTOPOKHAIX NEPEBO30K

34.to utilize — HcnoNBE30BaTH, YHOTPEONIATH

w
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Ex. 2. Match the word with the appropriate definition.

commerce, consignment, capacity, freight, carriage (BrE), container,
costs, carnet

1.

2.

a customs license authorizing the temporary importation of a motor
vehicle. 7
the amount of space a container, room etc has to hold things or peo-
ple. ‘

. the act of moving goods from one place to another or the cost of mov-

ing them .
the buying and selling of goods and services.

. an object used for or capable of holding, esp. for transport or storage,

such as a carton, box, etc .

. a quantity of goods that are sent somewhere, especially in order to be

sold.
the money that you must regularly spend in order to run a business, a
home, a car.

. goods that are carried by ship, train or aircraft and the system of mov-

ing these goods.

Ex. 3. Match the words and word combinations with the similar

meaning,.
1) customs a) costs
2) impediment b) help, aid
3) auspices ¢) formulate, invent
4) accession d) protection
5) expenses e) law
6) legislation f) toll, duty
Difacilitation g) obstacle
8) frontier h) admission
9) obvious i) evident
10) to utilize 1) to include
11) to cover k) to use
12) to devise ) boundary
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Ex. 4. Choose the right variant for each word combination.

1) swap body

2) imposition of security re-
quirements

3) a sine qua non

4) contracting parties

5) maritime transport

6) secure loading unit
7) inland container

8) international movement of
goods

9) transit regime

10) border crossing procedures
11) load compartment

12) single transit document

13) national legislation
14) risk assessment
15) inspection of load

a) HanokeHne Tpeboranui Heso-
MacHOCTH
b) Mopckoil TpascnopT

C) HempeMeHHOe YCNOBUe

d) HauuoHansHOe 3aKOHOAATENb-
CTBO

€)eUHBll TPAaHCHIOPTHBIA JOKY-
MEHT

f) ouenka pucka

g) Tpolielypa nepeceyeHus rpa-
HUILB!

h) 6e3omacHbil rpy30BOH OTCEK

i) BHYTpEHHMH KOHTEHHED

j) IpoBepka rpyza

k) cMeHHblii KOHTeHHep

1) MexayHapoaHoe MNepelBHXKeE-
HHE TOBapOB

m) KOHTpareHThbl

n) rpy30BOH OTCEK

0) TPaH3UTHBIA PEXKUM

Ex. 5. Choose the right variant for each word combination. Mind the

meaning of the word ‘customs”.

1) customs duties

2) customs official
3) customs revenue

4) customs declaration
5) customs supervision
6) customs facilities

7) customs tariff
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4) KBHUTAHIMA TaMOXHH 00 yI-
J1aTe MOMAUHbI

b) ynnaTa TaMOXEHHOM MOILIUHbLI
C) OYMCTKa OT TaMOXEHHBIX
TIOMITAH; TaAMOXEHHbIN JOCMOTP
d) uMIIOpTHasE  TaMOXKEHHas
CTOMMOCTH

¢) TaMO>KEHHBIE [OLUIHHBI

f) Tamo’KeHHbBIE NBIOTH

£) TaMOXeHHas JeKapanns



8) customs clearance charge h) TamoxxenHbI# JOCMOTP

9) customs receipt 1) TaMOXEHHas 3asBKa

10) customs clearance J) TaMOXeHHBIE JEHEXHbIE II0-
CTYINEHUST

11) customs seal k) tamoxenHas mnevars, Tamo-
JkeHHas rtomba

12) customs application 1) TaMoxKeHHAs CTOHUMOCTE

13) customs survey m) TaMOXEHHEI WHCIEKTOp;
NPEACTaBUTEIb TaMOXHH

14) customs import value 1) TaMOXXeHHbIH Tapud

15) customs value 0) TaMOXEHHBIH KOHTPOND

Ex. 6. Look at the headline of the article and try to guess what in-
formation it contains. Skim the article to check your guess.

Ex. 7. Read the article aftentively for more detailed information
about the TIR Customs transit system.

The TIR Convention of 1975 came into force in 1978. Since that time
the TIR Convention has proved that it is one of the most successful in-
ternational transport conventions and is in fact the only universal Cus-
toms transit system in existence. The idea behind the TIR Convention
and its transit regime has formed the basis for many regional transit sys-
tems and has thus, directly and indirectly, contributed to the facilitation
of international transport, especially international road transport, not on-
ly in Europe and the Middle East, but also in other parts of the world,
such as Africa and Latin America.

Anyone who has ever traveled on European roads will recognize the
familiar blue and white TIR plate borne by thousands of lorries and
semi-trailers using the TIR Customs transit system. For the driver, the
tfransport operator and the shipper, this plate stands-for fast and efficient
international transportation by road. Work on the TIR transit system
started soon after the Second World War. The first TIR Agreement was
concluded in 1949 between a small number of European countries.

The experience gained in the first 10 to 15 years of operating the system
was thus used to make the TIR system more efficient, less complex and at
the same time more Customs secure. Another reason why the original TIR
system had to be modified was that in the early 1960's a new transport tech-
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nique emerged: the maritime container. It was followed a litile later by the
inland container used by the European railways and by the swap-body intro-
duced for improving the efficiency of road/rail transport.

These new combined or multimodal transport techniques necessitated
the acceptance of the container, under certain conditions, as a Customs
secure Joading unit. It meant also that TIR regime no longer only cov-
ered road transport, but was extended to rail, inland waterways and even
maritime transport, although at least one part of the total transport opera-
tion still has to be made by road.

The advantages of the TIR Convention to commerce and transport in-
terests are obvious. Goods may travel across national frontiers with a min-
imum of interference by Customs administrations. By easing traditional
impediments to the international movement of goods, the TIR system en-
courages the development of international trade. By reducing delays in
transit, it enables significant economies to be made in transport costs.

The TIR Convention has proved to be one of the most effective interna-
tional instruments prepared under the auspices of the United Nations Eco-
nomic Commission for Europe (UNECE). To date, it has 65 Contracting
Parties, including the European Community. It covers the whole of Europe
and reaches out to North Africa and the Near and Middle East. Countries in
Asia have been informed about the facilities of this global Customs transit
system and their interest has shown that they may well join the TIR Conven-
tion in the not too distant future. Already today, the United States of Amer-
ica and Canada are Contracting Partics as well as Chile and Uruguay in
South America. The success of the TIR system may also be judged by the
number of TIR Carnets distributed and issued every year. As a result of the
expanding East-West European trade, corresponding tremendous increase in
international road transport, the number of TIR Carnets issued has now
reached 3.2 million (2004) which represents the start of nearly 10,000 TIR
transports every day in more than 50 countries and well over 50,000 TIR
border crossing procedures daily.

The accession of a number of Central European countries to the Eu-
ropean Community in 2004 may lead to a decrease in the number of TIR
transport operations in this part of Europe, as, TIR Carnets cannot be
used for Customs transit operations within the member countries. But the
development may well be compensated by an increase in TIR transport
operations in and to the countries of the Middle East and Asia.
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The tremendous increase in the use of the TIR Customs transit system
can be explained by the special features of the TIR regime which offer
transport operators and Customs authorities a simple, flexible, cost-
effective and secure Customs regime for the international transport of
goods across frontiers.

The TIR Convention also provides, through its international guaran-
tee chain, relatively simple access to the required guarantees which are a
sine qua non (necessary conditions) for the transport and trade industry
to benefit from the facilities of Customs transit systems.

Finally, in reducing the impediments to international traffic by road
caused by Customs controls, it enables exporters and importers to select
more easily the form of transport most suitable for their needs.

Traditionally when goods crossed the territory of one or more States
in the course of an international transport of goods by road, the Customs
authorities in each state applied national controls and procedures. These
varied from State to State, but frequently involved the inspection of the
load at each nationa] frontier and the imposition of national security re-
quirements (guarantee, bond, deposit of duty, etc.) to cover the potential
duties and taxes at risk while the goods were in transit through each terri-
tory. These measures, applied in each country of transit, led to consider-
able expenses, delays and interferences with international transport.

In an attempt to reduce these difficulties experienced by transport op-
erators and, at the same time, to offer Customs administrations an inter-
national system of control replacing traditional national procedures,
whilst effectively protecting the revenue of each State through which
goods were carried, the TIR system was devised.

As regards Customs control measures at frontiers, the TIR system
clearly has advantages for Customs administrations as it reduces the
normal requirements of national transit procedures. At the same time the
system avoids the need - expensive in manpower and facilities - for
physical inspection in countries of transit other than checking seals and
the external conditions of the load compartment or container. It also dis-
penses with the need to operate national guarantees and national systems
of documentation.

In addition, advantages arise from the fact that the international tran-
sit operation is covered by a single transit document, the TIR Carnet,
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which reduces the risk of presenting inaccurate information to Customs
administrations.

In case of doubt, Customs authorities have the right to inspect the
goods under Customs seal at any time and, if necessary, to interrupt the
TIR transport and/or to take adequate measures in accordance with na-
tional legislation. In view of the strict provisions of the TIR Convention
and the interest of all Customs authorities and transport operators to ap-
ply these provisions, such interventions should remain exceptional. Cus-
toms authorities can therefore reduce routine administrative Customs
procedures to a minimum and devote their limited resources to specific
control measures based on risk assessment and intelligence information.

Ex. 8. Provide the answers to the questions given below.

What has the TIR Convention contributed to?

What does blue and white TIR plate stand for?

What is the main aim of TIR system?

What are the advantages of TIR to commerce and transport?

What countries are the members of TIR Convention?

How can the increase in the use of the TIR Customs transit system be

explained?

7. What measures led to considerable expenses, delays and interferences
with international transport?

8. Why was the TIR system devised?

9. What are the advantages of TIR Carnet?

10. What rights do Customs authorities have?

AW

Ex. 9. Substitute the words in Russian with their appropriate
equivalents in English.

1. (B cnyuae comHenus) Customs authorities have the right to inspect the
(ToBapsi) under Customs (TamoxkeHuas riom6a) at any time and, if nec-
essary (MpMHMMAaTb COOTBETCTBYHOWIHE Mephl) in accordance with na-
tional (3axomonarensctso). 2. (Tamosxxenuste) procedures involve the
inspection of the (rpy3) at each national (rpanuua) and the imposition of
national (Tpe6oBanus GezonacHocTH), guarantee, (TaMOXEHHAs HaKaa-
Had), (neno3uTHAs moiunuHa), etc. to cover duties and taxes at risk. 3.
National controls and procedures applied by (TamoxenHble BlacT) in
each country of transit led to (3HauuTenbHbIe pacxoiwl), (3agepxku) and
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(smeruarenibcTBO) with international transport. 4. (Uro kacaercs) Cus-
toms control measures at frontiers, the TIR system (u3Geraet) the need
for physical inspection in countries of transit other than (mpoBepxa
nnom6) and the (BremHnx) conditions of the (rpysosoii saron) or con-
tainer. 5. (ToBapsl) may travel across national (rpaumusi) with a mini-
mum of (BMelaTenscTBO) by (TaMoxkeHHBIH) administrations. 6. In re-
ducing the ( mpenaTcTBHUiA) to international traffic by road caused by Cus-
toms controls the TIR Convention provides relatively simple (zoctyn) to
the required guarantees which are ( meobxonumsie ycnosus) for the
transport and trade industry. 7. Customs authorities can (yMeHsLIATB)
routine administrative (TaMoxxeHHbie npouenypsl) and (nocsaTuTh) their
resources to specific control measures based on ( ouenxe pucka) and in-
telligence information.

Ex. 10. Fill in the blanks with the prepositions.

1. The TIR Convention provides ... its international guarantee chain ac-
cess ... the guarantees ... the transport. 2. Goods may travel ... national
frontiers ... a minimum of interference ... Customs administrations. 3.
The TIR Convention is one of the most effective international instru-
ments prepared ... the auspices of the United Nations Economic Com-
mission ... Europe (UNECE). 4. The TIR system encourages the devel-
opment of international trade ... reducing delays in transit. 5. The TIR
Convention came ... force in 1978. 6. Customs authorities have the right
to inspect the goods ... Customs seal at any time and to take adequate
measures ... national legislation. 7. TIR Carnets cannot be used ... Cus-
toms transit operations ... its member countries.8. As regards Customs
control measures ... frontiers, the TIR system reduces the normal re-
quirements ... national transit procedures. 9. These new multimodal
transport techniques necessitated the acceptance ... the container... cer-
tain conditions, as a Customs secure loading unit.

Ex. 11. Translate the following sentences into Russian. Mind the use
of the verb to be.

1. Efficiently operating transport networks in the former segmented Eu-
ropean space-economy are critical success factors for the competitive
edge of Europe. 2. Competitive efficiency is in the centre of current Eu-
ropean transport policy. 3. There is a major more recent policy concern
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on the question whether transport will be devastating for environmen-
tally sustainable development. 4. The purpose of production logistics is
to ensure that each machine and workstation is being fed with the right
product in the right quantity and quality at the right point of time. 5. One
of the keys to the success of the container is that an agreement about its
base dimensions and latching system was reached through the Interna-
tional Standards Organization (ISQ) within 10 years of its introduction.

Ex. 12. Translate the following sentences into Russian. Mind the use
of the passive voice.

1. Since 90% of all traffic information is perceived visually, special at-
tention must be paid to the visibility of traffic signs and systems. 2. Do-
mestic road transport is being deregulated in most European countries. 3.
Transport of goods by road is still hampered by restrictions on cabotage,
empty runs and a lfack of fiscal, technical and social harmonization. 4.
Entrepreneurs offering transport services are being encouraged to de-
velop door-to-door delivery systems which implies finding the ultimate
balance between the existing transport modes. 5. Transport is affected by
international economic shifts, by tourism and by changes in the balance
of trade with Europe. 6. Road infrastructure costs have been closely ex-
amined in the UK over many years. 7. Changes in the supply of transport
services are affected by men technologies, customer demand and exter-
nal cost.

Ex. 13. Give the main points of the text in 4-6 sentences. You may
use the following clichés:

The text deals with... . The author points out that... . Attention is
drawn to the fact that... . It is pointed out that... . It should be noted
that... . The author comes to the conclusion that... . I find the text ra-
thertvery... .

Ex. 14. Translate the text into Russian. Use the dictionary if necessary.

The TIR Customs Convention, through its familiar symbol on the
backs of vehicles, has become known to every man, woman and child
who has travelled the highways of Europe over the past few decades.

"TIR" stands for Transports Internationaux Routiers as defined in the
UNECE TIR Convention.
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The TIR system has been devised to facilitate to the maximum extent the
international movement of goods under Custotns seals. The system provides
transit countries with the required guarantees to cover the Customs duties
and taxes at risk. A balance is struck between the responsibilities of the Cus-
toms authorities and those of the international trading community.

The TIR system offers the following benefits to the different stake-
holders involved in the international movement of transit goods:

s Facilitation of transport and trade reduces transport costs by reduc-
ing formalities and delays in transit; facilitates transit movements by the
application of standardized controls and documentation; and as a result,
encourages the development of international trade.

e For the transport industry goods move across international fron-
tiers with minimum interference; delays and costs of transit are reduced;
documents are simplified and standardised; and there is no need to make
Customs guarantee deposits at transit borders.

¢ For Customs authorities duties and taxes at risk during interna-
tional transit movements are guaranteed up to USD 50,000; only bona
fide conscientious transport operators are permitted to use TIR carnets,
thus increasing the security of the system; the need for physical inspec-
tion of goods in transit is reduced; the system facilitates Customs control
and documentation; and use of internal clearance points for export and
import allows more efficient deployment of Customs personnel.

However, as regards goods in transit, a way had to be found to seal
the goods in order to apply the transit bond-note system to transport op-
erations and to enable the Customs formalities applicable to imported
goods to take place at destination rather than at the border.

The TIR system is an international Customs transit system for goods
carried by road. It is based on 5 essential principles — the 5 pillars of the
TIR system.

1. Secure vehicles or containers: goods are carried in sealed vehicles
or containers which are approved for use by Customs and re-approved
every two years.

2. International chain of guarantee: duties and taxes due in case of ir-
regularity are secured by an international guarantee chain throughout the
journey.
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3. TIR carnet: the goods are accompanied by the TIR carnet: a control
document accepted by the Customs authorities of the countries of depar-
ture, transit and destination.

4, Mutual recognition of Customs controls: control measures taken in the
country of departure are accepted by countries of transit and destination.

5. Controlled access: access to the TIR system for national issuing
and guaranteeing associations is given by the competent national authori-
ties, and for transport operators, by the National Customs authorities and
the National Association.

Unit Ten: Containerization

Ex. 1. Mind the new words and expressions.

to abandon - oTKa3bIBaTHCA

approximate — NpHONU3ATENBHBIH

to allow for - yunreiBaTh

bale - Ti0K, naker

barrel —6ouka; Gappens (Mepa >KUIKHX, CBIIYYHX M HEKOTOPBIX

TBEPABIX MATEPUAJIOB)

bulk — Macca; Gonswoe konuuecTBO (KpynHas NapTHS Ipy3sa, Ge3

KaKOM-11. YIaKOBKH; HAIIP., 3€PHO, YroJb)

to boost — noanepxkuBarth, GopcHpOBaTh

bolster - nomnoH

collapsible - cknanuoii; pazaBKHO#

10. compatibility - coBMeCTUMOCTB; COOTBETCTBHE

11. crate - (HepeBsaHHBIN) AIIMK; TApa AJA YIAKOBKH

12. drum — OapabaH, UMJAMHAPWYECKHH KOHTeifHep, MeTannuyeckas
6ouka

13. gauge - mepa, pasmep

14. to handle —rpauci.: NpOU3BOANTD TPAHCTIOPTHYIO 00paboTky (rpy-
30B)

15. intact — HelOBpEX IeHHbIH, HETPOHYThIA

16. imperial measures (measurements) - UMIIepCKHE Mepbl (CTaHaapT-
Hbi€ eJMHULILI Mep, npuHsThie B CoeaunéHyom KoponescTae )

17. overwhelming — orpoMHslif, olenoMAsOKI

bl

&
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18.
19.

20.
21,
22.

23.

24,

25.

26.

27.
28.
29.
30.
31

32.

Ex

Ex

pallet - (rpy3oBoil) noAnOH A NEPEBO3KH rPY30B

payload - rpy3ononp€MHOCTE; MoNe3Has Harpyska;, TPaHCH. KOM-
MepuecKas Harpyska (Fpy3, KOTOphIit TPaHCIIOPTUPYETCs 3a NaTy)
to plague —0ecroKouTb, JOCHKIAATEL

to recycle — nepepabatbiBarh

reefer — pedpikeparop, BaroH- X0NMOHALHUK

to result from — npoucxoauTs BCAEACTBYE, ABNSTHCH PE3yNbTATOM
to result in - OpUBOAUTE K

to salvage -coOUpaTh ¥ MCTIONB3OBATE YTHALCHIPLE

scrutiny - BHUMaTeNnwHbIH 0CcMOTP

to seal - onedarsiBaTh,

semi-finished goods — nonyda6puxars

to smuggle contraband - npoBo3uTh KoHTpabaHaOH

to stack- -HakanauBaTh, yKIadkBaTh B ITaGens

swap body — chEMHBIN (CMEHHBLI) KY30B AN CMEIIAHHBIX aBTOMO-
OUIABHO-XKENIE3HOAOPOKHBIX EPEBO30OK

tampering - 1) danscuduxanug; noaaenka 2) MaHMiLy ASUHH, TOAKY T

. 2. Mind the following abbreviations.

. ISO - International Organization for Standardization UCO — Mexay-

HapoaHas Opranusanus no CraHgapTuzaliun
ITU - Intermodal Transport Units — eausunp! (KoHTeiiHeps!) ais
CMELAHHBIX NIEPEBO30K

. TEU - twenty-foot equivalent units — eauHuubI, sKBHBaneHTHBIE 20

dytam
FEU - forty-foot equivalent unit - emuHuuBl, 3KkBUBaNeHTHBIE 40

dbyTam
. 3. Match the word with the appropriate definition.

Intermodal, cargo, truck, cost, container, pallet.

1.

the price paid or required for acquiring, producing, or maintaining
something, usually measured in money, time, or energy; expense or
expenditure; outlay.

. alarge motor vehicle designed to carry heavy loads, esp. one with a

flat platform .
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3. astandard-sized platform of box section open at two ends on which
goods may be stacked. The open ends allow the entry of the forks of a
lifting truck so that the palletized load can be raised and moved about

easily.

4. using different modes of conveyance in conjunction, such as ships,

aircraft, road vehicles, etc.

W

goods carried by a ship, aircraft, or other vehicle; freight.

6. an object used for or capable of holding, esp. for transport or storage,

such as a carton, box, etc.

Ex. 4. Choose the right variant for each word combination. Mind the

right translation of the word “bulk”.
a) break bulk

b) break of bulk

n) the bulk of goods on sale
d) bulk buyer

e) bulk cargo

f) bulk discount

g) bulk of the cargo

h) bulk rate

i) bulk storage

) bulk supplies

k) bulk supply

1) in bulk

m) load in bulk

84

1) npekpalueHae norpy3ku 1o-
Bapa HaBajaOM

2) ONTOBbIH NOXynaresns

14) OGectapHbiii 1py3

4) bonbluas 4acTh rpysa

5) paz0uBaThH KPYIHYIO [ap-
THIO Ha MeJKue

6) ckuaka ¢ obbema 3a KOJIM-
4eCTBO

7) rpy3uth 6€3 YIIaKOBKH

8) ¢dpaxroBas craBka Jnd ne-
peBo3ku  OOJBILIOH  NapTHH
rpysa

9) mocraBKa KpPYMHBIMM fap-
THAMY

10) onrom, OOnBUIMMU TITAp-
THAMH

11) npeamers! cHAOKEHHUS, HO-
CTYMaromiKe KpPYMHBIMM [1ap-
THAMU

12) bonsluag 4acTs TOBAPOB,
UMEIOLNXCS B [IPOJIKE

13) Gecrapuoe xpaHeHre, Xpa-
HeHHe HaBaloM



Ex. 5. Choose the right variant for each word combination. Mind the
translation of the word “container”.

a) cargo container 1) kpan ona neperpy3ku KOHTeH-
HEPOB
b) container crane 2) Sonpuiol rpy3oBOH moe3xn, co-

CTaBIEHHbI U3 BAaroHOB, CO3JaH-
HBIX CIELUATBHO N TpaHcnop-
TUPOBKH KOHTEHHEPOB

c) container depot 3) KkoHTeliHepoBO3, KOHTElHEepHOEe
CYIHO

d) container ship 4) KoHTeHHEepHBIH cKiak

¢) container traffic 5) nopora/niyte, CAeNaHHbIC s
TPaHCTIOPTUPOBKH KOHTEHHEPOB

f) container train 6) rpy3oBo#i KouTeiiHep

g) container truck 7) KoHTelHepHas epeBo3Ka

h) transcontainer 8) xoHTeiHep, "crenuanu3upyio-

uMiics" Ha NepeBO3Ke TONbKO TeX
UNY HHBIX TOBAPOB

i) container capacity 9) xOHTe#HepHbIe IEPEBO3KH
j) container cargo 10) o6pEM KOHTEliHEpa

k) container loader 11) xoHTEHHEPHEII Ipy3

1) container shipment 12) norpy3umK KOHTEiiHEPOB

Ex. 6. Read the text and say what you have learnt about the contain-
erization.

Containerization is a system of intermodal freight transport cargo
transport using standard ISO containers (known as shipping containers),
ITUs (Intermodal Transport Units) that can be loaded and sealed intact
onto container ships, railroad cars, planes, and trucks.

Although having its origins in the late 1780s or earlier, the global
standardization of containers and container handling equipment was one
of the important innovations in 20th century logistics.

Toward the end of World War 11, the United States Army began using
specialized containers to speed up the loading and unloading of transport
ships. After the U.S. Department of Defense standardized an 8'x8' cross
section container in multiples of 10' lengths for military use it was rap-
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idly adopted for shipping purposes. These standards were adopted in the
United Kingdom for containers and rapidly displaced the older wooden
containers in the 1950s.

Even the railways of the USSR had their own small containers. The
introduction of containers resulted in vast improvements in port handling
efficiency, thus lowering costs and helping lower freight charges and, in
turn, boosting trade flows. Almost every manufactured product spends
some time in a container.

Containerization has revolutionized cargo shipping. Today, approxi-
mately 90% of non-bulk cargo worldwide moves by containers stacked
on transport ships; 26% of all containers originate from China.

The widespread use of ISO standard containers has driven modifica-
tions in other freight-moving standards, gradually forcing removable
truck bodies or swap bodies into the standard sizes and shapes (though
without the strength needed to be stacked), and changing completely the
worldwide use of freight pallets that fit into ISO containers or into com-
mercial vehicles.

Improved cargo security is also an important benefit of containeriza-
tion. The cargo is not visible to the casual viewer and thus is less likely
to be stolen and the doors of the containers are generally sealed so that
tampering is more evident. This has reduced the "falling off the truck”
syndrome that long plagued the shipping industry.

Container capacity is often expressed in twenty-foot equivalent units
(TEU, or sometimes teu). An equivalent unit is a measure of container-
ized cargo capacity equal to one standard 20 ft (length) x 8 ft (width)
container. As this is an approximate measure, the height of the box is not
considered. Similarly, the 45-ft (13.7 m) containers are also commonly
designated as two TEU, although they are 45 and not 40 feet (12 m)
long. Two TEU are equivalent to one forty-foot equivalent unit (FEU).

The use of Imperial measurements to describe container size (TEU,
FEU) reflects the fact that US Department of Defense played a major
part in the development of containers. The overwhelming need to have a
standard size for containers, in order that they fit all ships, cranes, and
trucks, and the length of time that the current container sizes have been
in use, makes changing to an even metric size impractical.
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The maximum gross mass for a 20 f& (6.1 m) dry cargo container is
24,000 kg. Allowing for the tare mass of the container, the maximum pay-
load mass is therefore reduced to approximately 21,600 kg for 20 ft (6.1 m),

Since November 2007 48-ft and 53 ft (16 m) containers are used also
for international ocean shipments. Various container types are available
for different needs:
¢ -General purpose dry van for boxes, cartons, cases, sacks, bales, pal-
lets, drums in standard, high or half height;
¢ -High cube palletwide containers for europallet compatibility;
¢ -Temperature controlled from —25 °C to +25 °C reefer;
¢ -Open top bulktainers for bulk minerals, heavy machinery;

s -Open side for loading oversize pallet;

-Flushfolding flat-rack containers for heavy and bulky semi-finished
goods, out of gauge cargo;

s -Platform or bolster for barrels and drums, crates, cable drums, out of
gauge cargo, machinery, and processed timber;

e -Ventilated containers for organic products requiring ventilation;

¢ -Tank containers for bulk liquids and dangerous goods;

-Rolling floor for difficult to handle cargo;

e -QGas bottle;

s -Generator;

s -Collapsible [SO;
e -Swap body.

Containers have been used to sinuggle contraband. The vast majority
of containers are never subjected to scrutiny due to the large number of
containers in use. In recent years there have been increased concerns that
containers might be used to transport terrorists or terrorist materials into
a country undetected. The U.S. government has advanced the Container
Security Initiative (CSI), intended to ensure that high-risk cargo is exam-
ined or scanned, preferably at the port of departure.

Containers are intended to be used constantly, being loaded with a
new cargo for a new destination soon after being emptied of the previous
cargo. This is not always possible, and in some cases the cost of trans-
porting an empty container to a place where it can be used is considered
to be higher than the worth of the used container. This can result in large
areas in ports and warehouses being occupied by empty containers left
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abandoned. However, empty containers may also be recycled in the form
of shipping container architecture, or the steel content salvaged.

Ex. 7. Provide answers to the questions below.

1. What does the containerization mean?

2. When were the standards for containers adopted in the United King-
dom and in the USA?

3. Containerization has revolutionized cargo shipping, hasn’t it?

4. What is considered to be one of the important benefits of containeriza-
tion?

5. How is container capacity often expressed?

6. What are the general types of container?

7. Is there any misuse of containers?

Ex. 8. Translate the following word combination into Russian. Use
the dictionary if necessary. Consult the text.

intermodal freight transport out of gauge cargo
container handling equipment cross section container
handling efficiency freight charges
payload mass tare mass

boosting trade flows dangerous goods
flushfolding flat-rack containers open side for loading

Ex. 9. Replace the words in Russian with their appropriate equiva-
lents in English.

1. Containers have been used to (mpoBo3uth kouTpabanay). 2. The intro-
duction of containers resulted in vast improvements in ( a3¢ddexTHBHOCTD
o6paboTku rpy3oB B moprty), thus lowering costs and helping lower
(pacxozpl o nepeBo3ke) and, in turn, (MoJAepPXKKa TOProOBLIX [TOTOKOB).
3. Containerization has revolutionized (rpysonepeBo3ku). 4. The use of
(craupapruble eaunuist) to describe container (pasmep) reflects the fact
that US Department of Defense played a major part in the (paspaboTka)
of containers. 6. The (rpy3) is not visible to the casual viewer and thus is
less likely to be stolen and the doors of the containers are generally
sealed so that (pamscudukauus) is more (ouesuana). 7. Platform or
(nomnon) for barrels and drums,(nepessiHHble AiKky), cable drums, out
of gauge (rpy3), machinery, and processed timber is a type of container.
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8. The widespread use of 1SO standard containers has changed (cbemabie
Ky3oBa) into the standard sizes and shapes and changed completely the
worldwide use of freight (noanousi) that fit into ISO containers or into
commercial vehicles. 9. ( YuuTeiBas) the tare mass of the container, the
maximum (noje3Has Harpyska) mass is therefore (ymeusinenst). 10.
(Tlycteie) containers may be (nepepabotansl) in the form of (Tpancnop-
TUPOBOUHBI KOHTelHep) architecture, or the steel content (yrunusupo-
BaHO).

Ex. 10. Fill in the blanks with the appropriate prepositions.

1. Various container types are available ... different needs. 2. Today,
approximately 90% ... non-bulk cargo worldwide moves ... containers
stacked ... transport ships; 26% of all containers originate ... China. 3.
Tank containers are intended ... bulk liquids and dangerous goods. 4.
This can result ... large areas in ports being occupied ... empty contain-
ers left abandoned. 5. The introduction of containers resulted ... vast
improvements in port handling efficiency.6. The vast majority ... con-
. tainers are never subjected ... scrutiny due ... the large number of con-
tainers ... use.

Ex. 11. Match the words and word combinations with the similar mean-
ng.

a) to displace 1) expenses

b) to abandon 2) lorry

c) shipping 3) to decrease

d) swap body 4) transportation

¢) evident 5) to refuse

f) to reduce 6) removable truck bodies
g) gauge 7) obvious

h) cargo 8) load

i) truck 9) to remove

j) costs 10) measure

Ex. 12. Translate the sentences into Russian, paying attention to the
participial constructions.

1. Logistics creates time and space utility for the products being moved,
thereby enabling the logistics users to provide value-added to their cus-
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tomers. 2. Services using advanced logistics always demand reliability
but not necessarily speed. 3. Incidents or near collisions with other vehi-
cles or objects, or driving off the road are not unusual when mobile
phones are used while driving. 4. Although the deterioration of transport
varies depending on time and place and the type and mode of transport,
it is a general phenomenon. 5. Now many companies have started con-
structing logistics systems, introducing leading logistics strategies and
technologies. 6. One of the main measures considered by logistics man-
agers of agro industries with continuous process is related to truck wait-
ing times in the reception area. 7. Transport services provided in return
for money can immediately be classed as third-party operations. 8. The
investigation carried out is based on the data from the road surface mea-
surements made on stale roads and accidents reported by the police.

Ex. 13. Translate the sentences into Russian, paying attention to the
infinitive.

1. The objective will be to maintain a high service level based on the re-
liabitity of supply. 2. The TIR Convention has proved to be one of the
most effective international instruments prepared by the United Nations
Economic Commission for Europe. 3. In order to stabilize the TIR sys-
tern in the long term, more profound modifications in its operation and in
the governmental cooperation and control mechanisms were felt to be
required. 4. By reducing delays in transit, TIR system enables significant
ecersmics to be made in transport costs. 5. When transport regulations
were first introduced the aim was to protect the railways. 6. Driver fa-
tigue or falling asleep is recognized to be among the most important
cauzative factors in road crashes, next to alcohol, speeding and inatten-
tion. 7. Buses are believed to be potentially flexible and cost effective
methwd of public transport offering many advantages over rail. 8. The
currant ongoing deregulation of international road transport is expected
to increase the load factors of vehicles considerably and thereby reduce
the total transport cost. 9. The speed of delivery required this is conjunc-
tion with the type of cargo and its transport logistics characteristics may
weil determine the mode as well as the route to be taken.
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Ex. 14. Translate the sentences into Russian, paying attention to the
conjunctions and compound prepositions.

1. Intermodal transport is the carriage of goods by several modes of
transport from one point/port of origin via one or more interface points
to a final port/point where one of the carriers organizes the whole trans-
port. 2. Such problem solution allows managers to optimize the transport
channel more operatively and effectively both in terms of cost (rates) and
time. 3. This may be due to economic factors and hence inadequate net-
works and services, or poor accessibility. 4. Because of the much higher
densities of people and activities, environmental, economic, public
health, social and quality of life considerations and constraints are im-
portant in cities. 5. Supply chain planning is carried out at corporate lev-
el as well as at operation level. 6. Supply chain management is signifi-
cant for both service and manufacturing organizations, although the
complexity of the chain may vary greatly from industry to industry. 7. A
supply chain network of an organization includes the location as well as
movement decisions in respect of procurement of raw materials and oth-
er inputs, transformation of these materials into intermediate and fin-
ished products and the distribution of these finished products to custom-
ers.

Ex. 15. Give the main points of the text in 4-7 sentences. Use the fol-
lowing clichés:

The text deals with... . The author points out that... . Attention is
drawn to the fact that... . It is pointed out that... . It should be noted
that... . The author comes to the conclusion that... . [ find the text ra-
ther/very... .

Ex. 16. Translate the following text into Russian. Use the dictionary
if necessary.

Transport is a key factor in modern economies. However, there is a
permanent contradiction between society, which demands ever more
mobility, and public opinion, which is becoming increasingly intolerant
of chronic delays and the poor quality of some transport services. As
demand for transport keeps increasing, the Community’s answer cannot
be just to build new infrastructure and open up markets. The transport
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system needs to be optimised to meet the demands of enlargement and
sustainable development, as set out in the conclusions of the Gothenburg
European Council. A modern transport system must be sustainable from
an economic and social as well as an environmental viewpoint. Plans for
the future of the transport sector must take account of its economic im-
portance. The sector employs more than 10 million people. It involves
infrastructure and technologies whose cost to society is such that there
must be no errors of judgment. Indeed, it is because of the scale of in-
vestment in transport and its determining role in economic growth that
the authors of the Treaty of Rome made provision for a common trans-
port policy with its own specific rules. For a long time, the European
Community was unable, or unwilling, to implement the common trans-
port policy provided for by the Treaty of Rome. For nearly 30 years the
Council of Ministers was unable to translate the Commission’s proposals
into action. It was only in 1985, when the Court of Justice ruled that the
Council had failed to act, that the Member States had to accept that the
Community could legislate. Later on, the Treaty of Maastricht reinforced
the political, institutional and budgetary foundations for transport policy.

Europe must bring about a real change in the Common Transport Pol-
icy. The time has come to set new objectives for it: restoring the balance
between modes of transport and developing intermodality, combating
congestion and putting safety and the quality of services at the heart of
our efforts, while maintaining the right to mobility. One of the main
challenges is to define common principles for fair charging for the dif-
ferent modes of transport. This new framework for charging should both
promote the use of less polluting modes and less congested networks and
prepare the way for new types of infrastructure financing.

Unit Eleven: The Spatial Economy of Road Transportation

Ex. 1. Mind the new words and expressions.

acute- OCTpBIH, kKpaliHHH, KpUTUYECKHH

attribute —~ mokasareins, XapaKTepHUCTHKA

to constrain — orpaHH4KBaTh, CAEPIKUBATh
convergence — CXOXIeHHE B OJHOM Touke, cOMmKenune



custodian - XxpaHHTENb, CMOTPUTEND

disparity — paznu4us; HECOOTBETCTBHE

divergence — pacxoxJieHHe, OTKIIOHEHUE

economies of scale (scale economies) - 3koHOMuUSA, OBYCIOBJIEHHAS
pocToM MacmTaboB NPOM3BOJICTBA; MONMKHTENEHbIH 3dexT Mmac-
wraba

9. to expropriate — IIaTh COGCTBEHHOCTH, OTUYKAATh

10.externalities - BUA, BHELIHOCTb, OBGIUK, NIPOABIECHHUS

11.to impose — HanaraTh, yCTaHaBJINBATh

12.mandatory — obg3aTenbHbId, NPUHYAUTENLHBIH

13.obstacle — npensrcTBue, 3aTpy/IHEHHE, TOMEXA

14.perishables - ckoponopTauyecs rpy3bl; CKOPOHOPTSAIMECS TOBAPDI
15.restriction- orpaHuuenue, nomexa

16.slope — ykJi0H, HaKnOH

17.spatial - npocTpaHCTBEHHBIN

18.sustainable ~ ycroiiunpsiif (3k0N0rHUECKH)

19.traction - cuna TATH; CUEMiEeHHE

20.trucking industry - rpy3onepeBosku

21.trunk - MarucTpane; riaBHas IMHHS

22.vested - 3aKOHHBI{, TPUHAANEKALHI NIO NpaBy

el BN

Ex. 2. Match the word with the appropriate definition.
consumption, impose, externality, goods, demand, vested, infrastructure

1. commodities that are tangible, usually movable, and generally not

consumed at the same time as they are produced;

to establish as something to be obeyed or complied with; enforce to

willingness and ability to purchase goods and services

econommics expenditure on goods and services for final personal use

the stock of fixed capital equipment in a country, including factories,

roads, schools, etc., considered as a determinant of economic growth

6. having a present right to the immediate or future possession and en-
joyment of property

7. an economic effect that results from an economic choice but is not
reflected in market prices

RANE e
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Ex. 3 Match the words and word combinations with the similar

meaning.

1) restrictions
2)growth

3) costly

4) income

5) impact

6) consumption
7) construction
8) restriction
9)attribute

10) reduction

a) influence

b) lessening

¢) limitation

d) structure

e) limitations
f) expensive

g) increase

h) use

i) revenue

j) characteristic

Ex. 4. Choose the right variant for each word combination.

1) under such circumstances

2) multiplication of road acci-
dents

3) size constraints

4) geographical disparities

5) market dominance

6) individual vehicle ownership
7) carrying capacity

8) divergence of costs

9) multi-lane urban expressway

10) gravel road

11) door to door service

12) toll road

13) right of passage

14) urban environment

15) sustainable environment
16) vested interests

17) traction capacities
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a) ropoJIcKas OKpyXaronasd cpela
b) ropoackas MHOTOpsSAHAA aBTO-
cTpasa

C) pacxoxIeHue B LieHax

d) ysemmuenune J{TIT

€) rpy30NoaEEMHOCTE

f) orpannuenue o pazmepam

g) rpasuiiHas gopora

h) marnas gopora

1) MOIITHOCTE TATOROTO YCH-
nus(cuna CLEIUICHUS)

j) cyx0a OT MecTa OTIIpaBIeHNS
0 MecTa npuOLITHs

k) 3akoHHBIE HHTEPECH

1) noMeHVpOBaHKe Ha pHIHKE

m) MpaBo Ha Mpoe3x

n) reorpahuueckye paznHuns

0) IPy30IIEPEBO3KU

P) aBTOMOOMIE B THYHO# cODCT-
BEHHOCTH

q) ycTOMUMBasA OKPy KaroIas
cpefia



18) trucking industry I) IPH TaKMX 00CTOSTENLCTBAX

Ex. 5. Choose the right variant for each word combination. Mind the
use of some economic terms:

1) economy of scale a) BHELLHUE HU3JEPIKKH

2) administration costs b) U3ePKKHN HA OTUYIKICHHE

3) development costs C) 9KOHOMHKA, 00yC/IOBNEHHAas
POCTOM MaclLiTaba NpoN3BOJCTBA

4) environmental externality d) pacxoapl 0 coaepKaHUIo
aMUHUCTPATUBHOTO annapara

5) construction costs €) U3epKKH Ha pa3paboTky

6) expropriation costs f) ctpaxoBbie cOOpBI

7) maintenance costs £) Pa3BHTHIe H pa3BUBAIOHINECH
CTpaHBbl

8) external costs h) skcniyarauMoHHbIE pacXoAbl

9) insurance fees i) 3aTpaThl Ha CTPOUTENLCTBO

10) inventory j) ymiep0, npuuHHseMbiii B pe-

3yIbTaTe BO3AEHCTBUA OKpY-
MALOLILYIO Cpeny

11) developed and developing k) marepuansho-

countries HPOU3BOACTBEHHBIE 3aM1aChl

Ex. 6. Read the text and say what you have learnt about the spatial
economy of road transportation.

Road transportation is the mode that has expanded the most over the
last 50 years, both for passengers and freight transportation. Such growth
in road freight transport has been fuelled largely by trade liberalization.
This is the result of growth of the loading capacity of vehicle and an ad-
aptation of vehicle to freight (e.g. perishables, fuel, construction materi-
als, etc) or passengers (e.g. school bus) demand for speed, autonomy and
flexibility. New types of problems, such as a significant growth of fuel
consumption, increasing environmental externalities, traffic congestion
and a multiplication of road accidents have emerged.

Road infrastructures are moderately expensive to provide, but there is
a wide divergence of costs, from a gravel road to a multi-lane urban ex-
pressway. Because vehicles have the means to climb moderate slopes,
physical obstacles are less important than for some other land modes.
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Most roads are provided as a public good by governments, while the vast
majority of vehicles are owned privately. The capital costs, therefore, are
shared, and do not fall as heavily on one source as is the case for other
modes. However, in many cases, governments have been inefficient cus-
todians of road infrastructure. Consequently, a growing number of roads
have been privatized and companies specializing in road management
have emerged, particularly in Europe and North America. This is only
possible on specific trunks that have an important and stable traffic. Un-
like governments, private enterprises have vested interests to see that the
road segments they manage are maintained and improved since the qual-
ity of the road will be directly linked with revenue generation. The ma-
jority of toll roads are highways linking large cities or bridges and tun-
nels where there is a convergence of traffic. Most roads are not economi-
cally profitable but must be socially present as they are essential to
service populations.

Governments can expropriate the necessary land for road construction
since a private enterprise may have difficulties to expropriate without
government support. Another important aspect about roads is their econ-
omies of scale and their indivisibility, underlining that the construction
and maintenance of roads is cheaper when the system is extensive, but to
a limit. However, all road transport modes have limited abilities to
achieve scale economies. This is due to the size constraints imposed by
governments and also by the technical and economic limits of the power
sources. In most jurisdictions, trucks and buses have specific weight and
length restrictions which are imposed for safety reasons. In addition,
there are serious limits on the traction capacities of cars, busses and
trucks because of the considerable increases in energy consumption that
accompany increases in the weight of the unit. For these reasons the car-
rying capacities of individual road vehicles are limited.

Roads are thus costly infrastructures, but also sources of income:

s Costs. They include rights of passage, development costs (plan-
ning), construction costs, maintenance and administration costs, losses in
land taxes (urban environment), expropriation costs (money and time),
and external costs (accidents and pollution).

+ Income. They-include registration, gas (taxes), purchases of vehi-
cles (taxes), tolls, parking, and insurance fees.
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Road transport, however, possesses significant advantages over other
modes. The capital cost of vehicles is relatively small. This produces
several key characteristics of road transport. Low vehicle costs make it
comparatively easy for new users to gain entry, which helps ensure that
the trucking industry, for example, is highly competitive. L.ow capital
costs also ensure that innovations and new technologies can diffuse
quickly through the industry. Another advantage of road transport is the
high relative speed of vehicles, the major constraint being government-
imposed speed limits. One of its most important attributes is the flexibil-
ity of route choice, once a network of roads is provided. Road transport
has the unique opportunity of providing door to door service for both
passengers and freight. These multiple advantages have made cars and
trucks the modes of choice for a great number of trip purposes, and have
led to the market dominance of cars and trucks for short distance trips.

Road transportation is characterized by acute geographical disparities
in traffic. It is not uncommon that 20% of the road network supports 60
to 80% of the traffic. This observation is expanded by the fact that de-
veloped and developing countries have important differences in terms of
the density, capacity and the quality of road transport infrastructures.
Acute geographical variations of the inventory are therefore the norm.

Technological evolution of road transport vehicles was a continuous
trend since the construction of the first automobiles. The basic technol-
ogy is however very similar, as road transportation massively relies on
the internal combustion engine. In the future new materials (ceramics,
plastics, aluminum, composite materials, etc...), fuels (electricity, hydro-
gen, natural gas, etc...) and computerization (vehicle control, location,
navigation and toll collection) are expected to be included in cars and
improve the efficiency of road transport systems.

Urban population has increased considerably over the last 50 years
and about 50% of the global population was urbanized by 2000 (about 3
billion people). It is impossible for developing countries to have rates of
individual vehicle ownership similar to those of developed countries,
especially compared with the United States. This will impose new or
alternative methods to transport freight and passengers over roads in ur-
ban areas. The reduction of vehicle emissions and the impacts of infra-
structures on the environment are mandatory to promote a sustainable
environment. Under such circumstances cycling is thus to be considered
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an alternative to the automobile in urban areas, widely adopted in devel-
oping countries, although more for economic reasons. A symbiosis be-
tween types of roads and types of traffic with specialization (reserved
lanes and hours) is to be expected.

Ex. 7. Answer the following questions.

1. What are the main problems of road transportation?

2. What are the main types of road ownership?

3. Why will the quality of the road be directly linked with revenue gen-
eration?

4. Why do all road transport modes have limited abilities to achieve
scale economies?

5. Why does road transport possess significant advantages over other
modes of transport?

6. What fact will impose new or alternative methods to transport freight
and passengers over roads in urban areas?

7. What is considered as an aiternative means of transport to the auto-
mobile in urban areas?

Ex. 8. Substitute the words in Russian with their appropriate
equivalents in English.

1. New types of problems, such as a significant (poct noTpe6aeHus Toi-
nuBa), (yBenmdenue ymepba okpyxarouwed cpene), traffic congestion
and a (ysenuuenne J[TII) have emerged. 2. (oxon) includes registra-
tion, gas (mamoru), (moxynka) of vehicles (taxes), (c6opsi), parking, and
(cTpaxossie cGoprr). 3. Unlike governments, (dacTHeie) enterprises have
(3axoHHLIe HHTepechl) to see that the road segments they manage are
maintained and improved. 4. In many cases, governments have been (He
yMmensie cmotputenu) of road infrastructure. 5. Trucks and buses have
specific weight and (orpannuenue mo anwse) which are (ranararorcs)
(o coobpaxenusam GesomacHocTH). 6. Road infrastructures are moder-
ately expensive to provide, but there is a (pacxoxnenue B eHax), from a
(rpasuitHas nopora) to a (ropojickas MHOropsanHas aBTocrpaga). 7. The
majority of (mnatusle noporu) are highways linking large cities or (moc-
TeI) and tunnels where there is a (cxoxzaenue nswkenns). 8. Low vehicle
costs ensure that the (rpysonepesoskm) is highly (xoukypenTHBI). 9.
(Paspureie) and (paspuBarompecs crpaHbl) have important differences (¢
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TOukH 3peHus) the (nmnorHocTH), (MomHocTH) - and the quality of road
transport infrastructures. 10. The (cokpaineHue BbIGPOCOB TPaHCHOPT-
HbIx cpeact) and the (BnusHue) of infrastructures on the environment
are (00s3aTenbHEI) t0 promote a (ycToiiunBas okpyxkawias cpena). 11.
However, all (Buabl nopoxHoro tpancnopra ) have limited abilities to
achieve (3xoHomMuku maciutaba) due to the (orpaHnuenus o pazmepam)
imposed by governments. 12. The (cTpoutensbcTBo) and (comepikanue
npopor) is cheaper when the system is extensive, but to a limit. 13. The
(rpy3onomeemHocTs) of (auuHbBIX aBTOoMOOUel) are limited. 14. ([Ho-
pO:xHbIE NMepeBo3kH) is the mode that has (paciunpeH) the most over the
last 50 years, both for passengers and (rpy3onepeposku).

Ex. 9. Fill in the blanks with the appropriate prepositions.

I. Governments can expropriate the necessary land ... road construction
since a private enterprise may have difficulties to expropriate ... gov-
erniment support. 2. Trucks and busses have specific weight and length
restrictions which are imposed ... safety reasons. 3. There is a wide di-
vergence ... costs, ... a gravel road ... a multi-lane urban expressway. 4.
Road transport possesses significant advantages ... other modes. 5. It is
impossible ... developing countries to have rates ... individual vehicle
ownership, especially compared ... the United States. 6. ... such cir-
cumstances cycling is to be considered an alternative ... the automobile
... urban areas ... developing countries, although more ... economic rea-
sons. 7. Road transport has the unique opportunity ... providing door ...
door service ... both passengers and freight. 8. The basic technology is
however very similar, as road transportation massively relies ... the in-
ternal combustion engine. 9. In addition, there are serious limits ... the
traction capacities ... cars and trucks because of the considerable in-
creases ... energy consumption.

Ex. 10. Translate the following sentences into Russian. Mind the use
of the modal verbs.

1. Access to infrastructure and allocation of rail infrastructure charges
have to be fair to the operators and should be non-discriminatory in rela-
tion to other transport modes. 2. In a well functioning market, rail trans-
port can play an essential role as a viable link in the intermodal supply
chain and in the logistical strategies of companies. 3. With information
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technology freight and vehicle flows may be monitored and thus con-
trolled and optimized. 4. It can be expected that the optimum equilibrium
between transport, production and inventory costs is highly sensitive to
the cost of each of these categories. 5. Rail transport could offer a good
alternative for both passengers and freight.6. It has to be emphasized that
the general development of transport systems is matched by a rise in the
number of people excluded. 7. The importance of the transportation
should also be seen by looking at the impact of transportation on a
country's economy.

Ex. 11. Translate the following sentences into Russian. Mind the use
of gerund.

1. Delivery may take over great distances and involve switching between
transport modes and sectors dispersed over different countries. 2. Carri-
ers try to retain business by maximizing the line-haul under their control.
3. Intermodality enhances the economic performance of a transport chain
by using modes in the most productive manner. 4. By reducing transpor-
tation emissions globally, it is predicted that there will be significant
positive effects on earth’s air quality, acid rain, smog and climate
change. 5. In a modern society it is recognized that there has to be some
attempt at providing equality for all kinds of transport, accepting that this
is not always possible or even desirable. 6. If financing is not easy for
conventional public transport, it is an acute problem when demand is
low. 7. With increasing use of e-shopping, deliveries to rural areas cost
more and often the rural dweller has to pay an additional charge to re-
flect his isolation.

Ex. 12. Give the main points of the text in 4-7 sentences. Use the fol-
lowing clichés:

The text deals with... . The author points out that... . Attention is
drawn (o the fact that... . It is pointed out that... . It should be noted
that... . The author comes to the conclusion that... . I find the text ra-
ther/very... .
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Ex. 13. Translate the following text into Russian. Use the dictionary
if necessary.

Travel by public transport has never been so difficult as today. In Eu-
ropean Union countries, in thirty years from 1970 to 2000 the modal
share of the car has increased of 4.5% from 73.8% to 78.3% while the
public transport modal share has decreased of 8.7% from 24.6% to
15.9%. This relative reduction of public transport ridership is the result
of major sociological and politico-economic changes. It corresponds to
changes in lifestyles, characterized by a new relationship towards time
and more flexible schedules, an increasing share of leisure activities. It is
also the consequence of urban sprawl with dispersion of the origins and
destinations of the journeys, a high increase of journeys from suburb,
and on longer distances. The increasing use of cars has been also streng-
thened by political decisions in favour of private modes, which led to an
increasing pressure on public budgets and insufficient financial invest-
ment for public transport. The management of mobility has never been
as difficult as today. The demand of mobility has become more compiex
and can not be satisfied by traditional modes of public transport. Against
this background, mobility actors and stakeholders have started to provide
flexible solutions. They constitute an essential link in the whole mobility
chain, either as a complement or as a substitute of traditional public
transport. The challenge is therefore to implement innovative solutions
to meet the needs for public transport by low demand. In this context it is
fundamental to develop flexible solutions to meet the needs when de-
mand is low. Is authorities and operators want to contain the pre-
eminence of the car, they need to consider the whole chain of mobility
and reposition public transport as to fill in the gaps left by conventional
services. The request is for door-to-door seamless travel by providing the
market with one public transport offer that integrates different products
from conventional public transport to demand responsive solutions, re-
gardless of the type of providers. Demand Responsive Transport (DRT)
can have the potential to improve the effectiveness and the efficiency of
providing mobility services. Experience shows that with DRT, public
transport actors can found cost-effective means of meeting societal needs
where there was previously a serious mobility deficit$ or they succeeded
to achieve effective mobility at reduced pre-trip costs.
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Unit Twelve: Information Technologies in Transport

Ex. 1. Mind the new words and expressions:

aids — BCHOMOTaTeIbHbIE CPEACTBA

bill of lading - xoHOCaMeHT, TpaHCIIOPTHAS HaKjiagHas

compatible - cOBMecTHMBIH; codeTaeMbli

driving licence - BomuTeIBCKHE NIPaBa

enforcement - TpeGoBaHue o cobmromeHuy (3aKOHOB, CTaHAAPTOB,

HOpM, TapudoB)

to enhance - yBelIHUUBATE, YCUIMBATh, YIy4lIaTh

7. electronic funds transfer (EFT) - anekTpoHHBIH IepeBOZ CpEICTB
(runarexei)

8. to fit - MOHTHpPOBaTE; yCTAHABINBATD;

9. fleet - mapk (TpaHCIIOPTHBIX CPEACTR)

10.HGYV - heavy goods vehicle - Gonbluerpy3ssiit aBTOMOGHIIb

11.idle time - Bpems mpocTost

12.immobilization - motreps NOABMKXHOCTH

13.invoice - cueT-akTypa, HakIagHas

14. maintenance - TeXHHUECKOE OOCITY>)KMBaHHE; PEMOHT; 9KCILTyaTalus

15.0ccupant - naccaxup

16.packing slip = packing list - ynakoBo4Has BeJOMOCTb

17.penalty — mtpad, HakazaHHe

18.protection device - 321IUTHOE YCTPOHCTBO, NPEeIOXPaHUTED

19.purchase order - 3aka3 Ha IOKYNKY, JOCTaBKY

20.with reference to smb. / smth. — ccrinasce Ha Koro-i. / 4To-J.

21.reminder - ycTpOHCTBO INepefiaud aBapUHHBIX CUTHAIOB

22.road holding — nmepxxanue noporu (aBTOMOOUTENEM); KypcoBas yc-
TOHYUBOCTH

23.routing — BEIOOp MapIIpyTa, CXeMa JIBHKEHMU;

24.smart device - HHTEJIEKTyallbHOE YCTPOMCTBO

25.spacing - MHTEpBaJl, paCCTOSHUE, TIPOMENKYTOK

26.t0 tackle - meITaThCsA HAWTH peleHMe (KaKuX-11. BOIIPOCOB)

27 telematics - HHTerpupOBaHHble cpencTsa o6paboTKy U nepenayyn UH-

bopmanuu

>
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Ex. 2. Match the word with the appropriate definition.

Exchange, driving license, distribution, bar code, technology, telematics.

1.
2.

the application of practical sciences to industry or commerce.

the division of the total income of a community among its members, esp.
between labour incomes (wages and salaries) and property incomes
(rents, interest, and dividends).

. to transfer or hand over (goods) in return for the equivalent vatue in kind

rather than in money; barter; trade.

a machine-readable arrangement of numbers and paralle! lines of differ-
ent widths printed on a package, which can be electronically scanned at a
checkout to register the price of the goods and to activate computer
stock-checking and reordering.

the branch of science concerned with the use of technological devices to
transmit information over long distances.

an official document or certificate authorizing a person to drive a motor
vehicle.

Ex. 3. Match the words and word combinations with the similar

meaning,

1) to enhance a) to regulate

2) penalty b) crash

3) in the event ¢) to support

4) seat belt d) passenger

5) accessible e) advantage

6) occupant f) safety belt

7) to adjust g) to intensify

8) to provide h) available

9) accident i) punishment

10) to encourage j) in case of

11) objective k) to supply

12) benefit 1) goal

Ex. 4. Choose the right variant for each word combination.

1) braking habits a) pUHAHCOBOE YpETYIUpOBAHHE
2) on-bord computer b) yraponpouHocTb

3) renewable energy sources C) onTUMaNbHasl MapLll Py TH3aLHA
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4) vehicle spacing

5) repair shop

6) financial settlement
7) optimal routing

8) heat engine

9) fleet maintenance

10) hydrogen fuel cells

11) onboard driving aids
12) prevention measures
13) impact resistance

14) improved road holding

15) slippery surface
16) warning system
17) smart protection device

18) tailored protection
19) to wear seatbelts

d) npodunaxruyeckue Mepsl

€) peMOHTHas MacTepcKas

f) cTunp BOXKACHHKS

g) Bo300HOBISIEMble  UCTOYHHMKH
SHepruu

h) npucternyTe peMuu 6€3011aCHOCTH

i) paccTosHue MOKTY aBTOMOOHILAMU

j) 60pTOBOH KOMIIBIOTED

k) rennoBoil ABUraTenb

1) obcnyxuranne napka

m) CHCTEeMa NPEAyIPEKASHUA

n) HHTEIIEKTYanbHOe YCTPOHCTBO
3AUTHTHI

0) BOAOPOJiHbIE TOIUIMBHEIE 3JIeMEH-
TBI

p) OOpTOBBIE  BCHOMOTATEIHHEIE
CPeICTBa BOXACHHUS

I) crielHaIH3UpOBaHHas 3aliuTa

S) CKOJIB3Kas [OBEPXHOCTD

t) yJTydILeHHOe coZiep)KaHye JOPOTH

Ex. 5. Look at the title and say what information the text gives. Read
the text attentively for the details.

Information technologies in transport

Information technology (IT) is process and "act upon” information at
the right time and place, makes greater market intelligence possible. IT is
instrumental in supporting the basic internal and inter-company transac-
tions associated with distribution, transport and related services, i.e.:
preparation of the logistics process; planning of the process; operations
and control; financial settlement; fleet maintenance and monitoring.

The benefits of all information technology innovations in road freight
operations result from improved, real-time electronic exchange of, and
acting upon, data and information. Information technology innovations
enable or will require the electronic exchange of data and information
concerning:

e cargo, vehicle and driver identification and status;
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¢ vehicle location;

e current traffic conditions;

e optimal routing, taking into consideration the availability of loads and
appropriate equipment to move them, traffic and weather conditions,
the nature of the cargo being transported, using routing algorithms or
"artificial intelligence" (so-called "real-time routing");

¢ optimal routing of cargo (package or whole shipments);

e optimal routing of Joad units (trailers, containers, swap bodies, etc).

Here are the main innovations in information technology:

1. Automatic vehicle identification: transmits vehicle information
(identification, size and weight, vehicle type or class);

2. Bar coding: provides product & picking information (identifica-
tion. size and weight, origin and destination);

3. Electronic data interchange: transmits business data and provides
electronic business documentation (purchase order; bill of lading; pack-
ing slip; invoice; electronic funds transfer);

4. In-vehicle navigation systems: provides driver with information
thighway and traffic conditions; location (of vehicle, destination, etc.);
alternate routes; automatic vehicle spacing);

5. On-board computer (mobile IT): monitors vehicle and driver be-
havior (vehicle speed; engine idle time; engine oil temperature & pres-
sure; vehicle stop time and distance; driver's braking habits);

6. Two-way communication systems: exchange messages between dis-
patcher and driver (trip and shipment information; location (of vehicle, des-
tination, etc.) including location of maintenance and repair shops).

Technological innovation provides an excellent opportunity to inte-
grate the transport modes, optimise their performance, make them safer
and help make the European transport system compatible with sustain-
able transport development.

Technology development in the transport field is estimated at around
EUR 1.7 billion, in such areas as intermodality, energy and the technol-
ogy of means of transportation, including telematics applications.

The strategic objectives deal with the reduction of greenhouse gases
and pollutant emissions, the security of energy supply and the balanced
use of the various transport modes. The research is focused on actions to
develop renewable energy sources and on cleaner and more efficient en-
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ergy use, especially in urban areas, and to develop new transport con-
cepts that are cleaner and more energy efficient.

The development of a new generation of hybrid electric cars (electric
motor combined with a heat engine) and cars which run on natural gas
or, in the longer term, hydrogen fuel cells, looks very promising.

Technological developments enhance the usual methods of control
and penalties, with the introduction of automatic devices and onboard
driving aids. In the same context, the eventual fitting in road vehicles, as
in other forms of transport, of black boxes to record parameters which
help explain the causes of accidents, will make motorists more responsi-
ble and enable more effective prevention measures to be taken. The in-
troduction of electronic driving licenses could also help with the en-
forcement of penalties, such as the immobilisation of vehicles whose
drivers have lost their licenses.

Intelligent transport systems are another opportunity. In this context,
it would be useful to encourage the introduction of active safety systems
for all new vehicles. Fitted with innovative technologies, for example, in
the area of traffic management and collision-avoidance systems, such
vehicles hold out the prospect of road safety being improved by 50%.

Technological progress should also increase vehicles’ impact resis-
tance thanks to the development of new materials and the introduction of
new advanced design processes for structural integrity. Current progress
with tyres (reduced water projection for HGV tyres, improved road hold-
ing on slippery surfaces, warning system to indicate under-inflated tyres)
should in the short term make for reduced fuel consumption and rolling
noise while maintaining a high level of safety. This should produce a
10% saving on fuel and around 1 000 fewer deaths per year.

Protection of vehicle occupants in the event of impact is progressing
remarkably. Electronic systems will enable new smart protection devices
(airbags for example) to adjust for the number of vehicle occupants, their
morphology and the nature of the impact so as to provide more tailored
protection. Reminders to put safety belts on must become standard vehi-
cle equipment. In Sweden, 95% of car occupants wear their seatbelts.
However, half of all those killed in accidents were not wearing their
seatbelts at the time of the accident.

Finally, as the volume of traffic increases, better vehicle-speed man-
agement is an essential aspect of safety that will also help tackle conges-
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tion. In addition to improved road safety, observation of speed limits will
also reduce greenhouse gas emissions significantly. The most promising
prospects here are offered by new technologies that can determine opti-
mum speed at any moment with reference to traffic conditions, road fea-
tures and external conditions (such as weather) and pass the information
on to drivers by way of information display boards or on-board commu-
nication systems. Roads and vehicles throughout the Union need to be
equipped with these new technologies as soon as possible, and informa-
tion systems made accessible to everyone.

Ex. 6. Provide answers to the following questions.

What is ‘information technology”?

What do information technology innovations enable?

What are the main innovations in information technology?

‘What does technological innovation provide?

Protection of vehicle occupants in the event of impact is progressing
remarkably, isn’t it?

RN

Ex. 7. Substitute the words in Russian with their appropriate
equivalents in English.

1.  Technological innovation (obecneuusaer) an  excellent
(Bo3MoOxcHOCTB) to integrate the (BuAnl TpaHcmopra), make them safer
and help make the European transport system (coBmecTuMoif) with (yc-
toifuuBoe) transport development. 2. (bopToBoii koMnLIOTEP) MoONItors
vehicle and (nosemenue Boaurens): vehicle speed; engine (Bpems mpo-
cros); (paccrosnue); driver's (ctusme Boxaenus). 3. In addition to im-
proved (6e3omacHocTh nopor), observation of (orpaHuueHHe cKOpOCTH)
will also (ymenbiut) greenhouse gas (BbiGpockl) significantly. 4. The
most (obemaromuii) prospects are offered by new technologies that can
(onpeaensaTs) optimum speed at any moment with reference to (ycnosus
IBIKEHHS), (XapaktepuctikaMu popor) and external conditions and
pass the information on to drivers by way of information display boards
or (Goprosas cuctema cBasu). 5. Technological (pa3paborku) enhance
the usual methods of control and (wtpados), with the introduction of
automatic devices and (OopTOBBIX BCIOMOraTeibHLEIX CpPEACTB
BOXAeHHs). 6. As the (o6beM aBueHus) increases, better (yrpaBreHue
CKOpOCTBLIO aBTOMOOMA) is an essential aspect of (GezomacnocTs) that

107



will also help (pewate npoGnemy 3aropos). 7. IT is instrumental in sup-
porting the basic (cuenku) associated with (pacnipegaenennem), transport
and (puHaHCcOBOE yperynupoBanue); fleet (TexHudeckoe o0CyxHUBaHKE)
and monitoring. §. (3aura) of vehicle (naccaxupos) (B ciy4ae CTONK-
HOBeHUS) is progressing remarkably. 9. Information technology innova-
tions (Tpebyrot) the electronic (06men ganubIx) and information con-
cerning: (rpy3); vehicle location; current (ycnobwuii gBrxends ), optimal
(cxemp! aBmkenns rpy3a). 10. The eventual (ycraHoBka) in road vehi-
cles, as in other forms of transport, of (4epHrix suKoEB) to record pa-
rameters which help explain the (npuunna asapuit) , will make motorists
more (oTBeTCTBeHHbIH) and enable more effective (mpodunakTuueckue
Mephl) to be taken.

Ex. 8. Fill in the blanks with the appropriate prepositions.

1. Roads and vehicles ... Europe need to be equipped ... these new
technologies as soon as possible. 2. It would be useful to encourage the
introduction ... active safety systems ... all new vehicles. 3. Reminders
to put safety belts ... must become standard vehicle equipment. 4. Pro-
tection ... vehicle occupants ... the event ... impact is progressing re-
markably. 5. Half ... all those killed ... accidents were not wearing their
seatbelts ... the time ... the accident. 6. Information technology is in-
strument ... supporting the basic internal and inter-company transactions
associated ... transport and related services. 7. Technological develop-
ments enhance the usual methods ... control and penalties ... the intro-
duction of automatic devices. 8. The research is focused ... actions to
develop renewable energy sources and ... cleaner and more efficient en-
ergy use, especially ... urban areas. 9. The strategic objective deals ...
the security ... energy supply. 10. The benefits ... all information tech-
nology innovations ... road freight operations result ... improved, real-
time electronic exchange ... data and information. 11. Two-way com-
munication systems exchange messages ... dispatcher and driver ... lo-
cation ... vehicle, destination, etc.

Ex. 9. Translate the following noun+noun constructions into Rus-
siam.

1. mass production industries 10. manufacturing flow man-
agement
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2. material flow system 11. demand forecast data

3. road transport markets 12. freight transport services
4. market observation system 13. raw material inventory
: stock level

5. public transport users 14. transport sector energy con-
sumption

6. transport logistics characteristics 15. door-to-door delivery sys-
tem

7. supply chain management 16. air traffic control system

8. customer relationship manage- 17. traffic accident statistics

ment

9. Road safety audits and inspec- 18. supply chain business proc-

tions ess integration

Ex. 10. Translate the sentences into Russian, paying attention to the
infinitive.

1. Transport telematics is assumed to contribute to goal achievement in
the transport sector in Norway. 2. Even though the drivers seem to ac-
knowledge falling asleep as an important cause in road accidents, few
drivers seem aware of the severity of sleep-related accidents. 3. Road
transport growth is expected, to soar in Eastern Europe. 4. Logistics ex-
perts consider it is increasingly important for manufacturers, distributors
and retailers to focus on efficiency in seeking out solutions to meet their
specific transportation requirements. 5. Very few measures have been
taken to provide a basic regulation of social conditions in the road trans-
port sector. 6.What is needed is to make rail transport once again com-
petitive enough to remain one of the leading players in the transport sys-
tem in the enlarged Europe. 7. The concept of containerization is consid-
ered to be the key innovation in the field of logistics which has
revolutionized freight handling in the twentieth century. 8. As the Inter-
net and other new communication technologies are developing, it is ex-
pected to bring more innovations which further simplify the tasks of lo-
gistics. 9. Today various mathematical and analytical methods are avail-
able to solve the problems of vehicle routing. '
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Ex. 11. Translate the sentences into Russian, paying attention to the
use of the verb *to have’ in different functions.

1. Rail has always been far safer than road. 2. A free exchange of per-
sons, commodities and capital has far reaching implications for intra-
European trade and transport. 3. Around 1/3 of passengers have to
change buses in the course of their actual journey. 4. With the conver-
gence of Europe’s economies, trade relations and the subsequent need
for transport of goods and passengers have immensely increased. 5. Go-
vernmental authorities in charge of public works have the legal obliga-
tion to ensure road safety at any time and without restriction. 6. Road
safety audits and inspections have to be implemented to guarantee con-
tinuous high safety standards and to supervise the overall road safety
criteria. 7. Today containerization has become the integral part of logis-
tics, which has revolutionized the cargo shipping. 8. To build up inven-
tory sufficient capital has to be tied up for a length of time. 9. In busi-
ness, logistics may have either internal focus (inbound logistics) or ex-
ternal focus (outbound logistics) covering the flow and storage of
material from point of origin to point of consumption. 10. Sophisticated
control systems have to be developed and used in the nearest future.

Ex. 12. Give the main points of the text in 4-7 sentences. Use the fol-
lowing clichés:

The text deals with... . The author points out that... . Attention is
drawn to the fact that... . It is pointed out that... . It should be noted
that... . The author comes to the conclusion that... . I find the text ra-
ther/very... .

Ex. 13. Translate the following text into Russian. Use the dictionary
if necessary.

The Department of Transportation has contributed $18mlin towards
the project as part of its efforts to find new ways to cut congestion in
big cities. Donald Shoup, a professor of urban planning at the
University of California, Los Angeles, thinks parking should be made
easier to find so as to help public transport flow more freely and to
reduce the amount of carbon dioxide spewed out by motorists in their
endless searching for somewhere to stop.
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The SFpark project will begin early in 2009 with a new network of
pavement sensors in 6,000 of San Francisco’s metered parking spaces
and 11,500 of its off-street car parks and garages. These sensors will
detect when a space is taken and relay that information to a central
database. From there, information about vacant parking spots will
pass to drivers in several ways. The most basic will be through a
network of road signs that will indicate areas with parking places.
Eventually, however, officials want to provide web and mobile phone
services that display the availability of parking block by block on a
colour-coded map, much like the traffic maps now offered by Google.

The city also plans to make parking metres capable of two-way
communications. This will allow them to accept credit and debit card
payments, seek maintenance and (perhaps to less acclaim) alert
Lovely Rita when a parking ticket needs to be issued. Crucially, such
metres can also be changed remotely to charge different rates
according to demand at different times of the day. “If you get the
price right, nobody will have to cruise,” adds Dr Shoup.

A number of companies already have detection systems at work.
Streetline’s technology, for instance, presents networks of small,
cheap, low-powered sensors. The company’s pavement sensors will
run for more than five years on two AA batteries. Like those from
other companies, they detect a disturbance in the magnetic field from
a hunk of metal (that is, a car). Data can hop from sensor to sensor
until it makes its way to a gateway, a small box sitting on top of a
streetlamp or traffic-signaling box. From there, it can travel to the
central database via the mobile-phone network or municipal Wi-Fi.

Streetline’s sensors have already been tested in parts of San
Francisco and by the end of the year they will be deployed in 3,500
parking spaces in Los Angeles. The company hopes eventually to
create networks that monitor other bits of a city’s infrastructure too,
including traffic flows, street lamps and water mains.

VehicleSense is testing its wireless-sensor networks in parking
areas along Interstate 95 in south-eastern Massachusetts. The idea is
to give fatigued truckers better information on where they can pull off
the road to get some sleep. This technology can go only so far
towards relieving congestion and helping drivers find parking spaces.
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